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Abstract

According to previous research crosslinguistic influence can occur in bilinguals of languages
that partly overlap in their grammatical rules at least in early stages of development ( Jansen &
Lalleman, 1980). As the interface between different language domains such as syntax-pragmatics is a
possible locus of transfer for young and older child bilinguals( Hulk & Miiller, 2000; Argyri &
Sorace, 2007) this paper attemps to find out what happens to the Greek basic word order of three
simultaneously bilingual Dutch-Greek young children by analysing their spontaneous speech. Since
Greek, albeit registered as an SVO language, presents great flexibility of word order depending on
pragmatic factors, it was expected that the word order structure of main and subordinate clauses and
interrogatives will undergo influence from Dutch, an SOV language with Verb second position for the
main clause and V final for the subordinate. The findings showed a negligible occurrence in the two
younger bilinguals with a clearer manifestation in the older one, albeit still small.

Introduction

Hummel (2013) gives the following definition for the term cross-linguistic influence:
“instances of phonological, lexical, grammatical or other aspects of transfer from one
language to another”(p.64). A great deal of research has been done about syntactic transfer
concerning word order, relative clauses and negation as referred to in Odlin (1989). The
groups of participants taking part in these studies vary from adult L2 of high or low
proficiency to very young or older child bilinguals or children with atypical acquisition (
Chondrogianni & Vasi¢, 2016), all sharing common and different factors causing or
facilitating the phenomenon of syntactic transfer. Indeed, in a review by Hartsuiker and
Pickering (2008) about bilingual sentence production it is concluded that there is influence
between the two languages of a bilingual on a syntactic level and that these people have
shared syntactic representations and processes. It is interesting to mention, though, that
despite the existing research evidence concerning particularly word order transfer, some keep
refusing its existence claiming that it is actually a pure artifact of discourse manipulations and
that Universal Grammar constraints block basic word order transfer from happening ( Odlin,
1989).

Theoretical Background

In the last decades after the confirmation of the separate language hypothesis which
argues for an early on differentiation between the two languages of a bilingual child yet
without excluding the influence from one language to the other (Hulk & Miller, 2000), there
has been a growing interest in young and older child bilinguals combined with an interest in
transfer in the interface between syntax and discourse pragmatics ( Chondrogianni & Vasic,
2016). The distribution of null and overt subject pronouns or weak and strong object pronouns
has gained the attention in a series of studies ( among others Argyri & Sorace, 2007;
Serratrice, Sorace, Paoli, 2004; Muller et al. 1999; Hulk & Mdiller, 2000; Muller & Hulk,
2001) exactly for this reason. Pragmatic factors can influence the occurrence of these
grammatical categories and this way they are potentially vulnerable to crosslinguistic
interference ( Hulk & Miiller, 2000; M:uller & Hulk, 2001).

There has been a considerable effort to explain the phenomenon of transfer in all these
cases. According to Hulk & Muiller (2000), in order for cross-linguistic influence to occur,
two conditions need to be satisfied. First, there has to be the interface between syntax and
discourse-pragmatics and secondly a surface structural overlap needs to be exhibited by the
two languages of the bilingual. They claim that the cause of the interface’s vulnerability lies
on the level of the knowledge of the structure and the problems which develop there (



Chondrogianni & Vasi¢, 2016). Sorace and Filiaci (2006) and Sorace (2011), on the other
hand, argue for processing constraints during the integration of syntactic and pragmatic
sources of information either for comprehension or for production of the relevant structures.
Children, who are not yet fully developed at cognitive level, show simply fewer processing
capabilities ( Chondrogianni & Vasi¢, 2016).

However, besides the account proposed by Hulk & Miiller (2000), there are voices
who speak about some other factors that might determine transfer. There is the viewpoint of
Paradis and Navarro (2003) that argues for a specific language input that the bilingual child is
exposed to and that could potentially cause what is considered to be transfer. According to
them, the so-called transfer is just a reflection of the quality of input the bilingual child get as
the native language spoken by a parent who has spent a considerable part of her/his life living
in a dominant L2 environment may present signs of cross-linguistic interference, too.

Other researchers, on the other hand, emphasize the role of dominance in the
manifestation of transfer and the strength of its effects. Argyri and Sorace ( 2007), for
example, have, indeed, found that dominance is a significant factor in older bilingual English-
Greek children. In their research only the English dominant children presented vulnerability to
transfer in Greek structures relative to the interface of syntax-discourse pragmatics. The
dominant language defined either as the majority language ( Schlyter, 1993) or the language
with the greater amount of input and more active use ( Dopke, 1992) exists even in the cases
of simultaneous bilinguals from birth ( Grosjean, 1982; Dopke, 1992).

Finally, there is the study of Meisel (1986) particularly interesting as it focuses on
word order and inflection in two very young French-German simultaneously bilingual
children. What is important in this study apart from the finding that young bilinguals can
distinguish the grammars of their two languages early on, is that it showed that these bilingual
children know which word order is appropriate for each of the anguages they speak. Meisel
(1986) also found that the bilingual children primarily in his study prefer an SVO word order
for their sentences and this may be associated with what Slobin and Bever (1982) found about
monolingual children of all kinds of languages concerning different degrees of inflectional
richness. They claimed that monolingual children are coordinated with canonical sentence
forms already from the very early stages of their lives and that their constructions already
present the most typical features of these forms( Slobin and Bever, 1982).

Though, in as much as for cross-linguistic influence to occur according to Hulk &
Miiller (2000) and Muller & Hulk ( 2001), a second condition of surface structural overlap
between two languages has to be fullfilled, a closer look to the word orders of Greek and
Dutch has to be taken for the purposes of this study. Modern Greek, which is a predominantly
suffixing inflectional language and one of the null-subject languages, has traditionally been
characterised as of a flexible word order type ( Laskaratou, 1989). Even so, SVO is considerd
to be the dominant and most frequent word order used in main declarative clauses whereas in
most other cases, like questions and subordinates, it is VSO. Despite that, Laskaratou (1989)
claims that communicational needs and characteristics of the subjects cause its movement to
the clause initial position which is actually a theme and not a basic subject position. Her
proposal is therefore that Greek has a verb initial position (VSO) basic order despite the SVO
dominant active transitive order. Furthermore, pragmatic principles related to normal and
relaxed way of speaking or an excited one normally determine whether the SVO order will be
replaced by another order in declarative clauses ( Laskaratou, 1989) just as they also
determine the appearance and the position of nominal elements in free word order languages
in general (Tzanidaki, 1995). This doesn’t mean that all combinations are equally usual or
sound equally natural, as Tzanidaki (1995) properly notices. Focus, topicalization and
grammatical preference principles play a crucial role according to her ( Tzanidaki, 1995).
Likewise, according to Laskaratou ( 1989) there are a number of factors that account for the



flexibility of the Greek word order from a functional point of view removing any possible
characteristic of arbitrariness ( Laskaratou, 1989). Along with the previous, Standard Greek
uses very often pronominal clitics in the place of a full pronominal and these clitics always
take a preverbal position with the exception of imperatives and gerunds ( Revithiadou &
Spyropoulos, 2008) where they hold a postverbal place in the sentence ( Revithiadou &
Spyropoulos, 2008). Finally, indirect object pronominal clitics must precede direct object
clitics in cases of ditransitive verbs. Here are some examples of Greek sentences ( see
Appendix C for an explanation of the abbreviations and symbols used everywhere in the text
such as in the transcriptions):

1) H Mopia TPOEL  TAYOTO
S \/ o]
The Maria-NOM eat-3SG ice cream-ACC
Maria eats ice cream
Maria eet ijsje

(2)  Ortavnpde o Tdvwmg, n aibovoa "frav Gdeta.
\% S S \ Pr.Adj.
When come-3SG-PST the Giannis-NOM, the room  be-3SG-PST empty
When John came, the room was empty
Toen John kwam, was de ruimte leeg

(3) H Avva ayopooe omitt;
S \% o)
The Anna buy-3SG-PST home-ACC?
Has Anna bought a house?
Heeft Anna een huis gekocht?

(4)  Mmnopeic va pog Kt GAAO, av BéAeLG.
Vv Vv 0] V
Can-2SG to eat-2SG-PERF-SUBJ and more, if want-2SG
You can eat more if you want
Je mag meer eten, als je wilt.

(5) Tov 10 £dmoa exbéc.
O.In. 0.D. Vv
Him-GEN it-ACC give-1SG-PST yesterday
| gave it to him yesterday
Ik heb het aan hem gisteren gegeven

Dutch, on the other hand, is a relatively fixed word order language that nevertheless
allows word order variation to some extent( van der Beek, 2004). The unmarked order of the
main clauses is SVO whereas it is SOV in subordinates, with VV meaning the finite verb.
Koster (1975) claims that the underlying word order of the Dutch language is SOV with the
SVO pattern of main clauses resulting from a Verb Placement rule, whereas Zwart (1993) on
the contrary considers Dutch as an SVO language. The surface position of the finite verb in
the main clause is the second position (V2) with the subject occupying the first unless another
element takes its place. In that case it moves to the right of the verb. Non finite verb forms



come at the end of the sentence. In yes-no questions and commands the verb takes the first
position with the subject following right after. The subordinates, on the other hand, use a
verb-final position with the non-finite verb preceding the finite verb. It can also follow
though, which is actually a question of usage and style ( Stern, 1984). Finally the object takes
the place on the right of the finite verb or between the finite and the non-finite verb whereas
in the subordinates or in the questions it comes right after the subject. “Object scrambling” is
a typical term referring to that characteristic of the direct object which can appear anywhere in
the Middle Field before or after elements such as negation or adverbs ( Schaeffer, 2000). The
following are some examples of Dutch sentences:

(6) Hij speelt  gitaar
S V 0]
He play-3SG guitar
He plays the guitar
[Mailer k1Bapa
\ O

(7)  Morgen  brengt John de kinderen
\ S O
Tomorrow bring-3SG John the children
Tomorrow John will bring the children

Avpro o I'dvvng eépvet ta mTandid
S \Y @)

(8) Johngaat morgen de kinderen brengen
S Vf 0] Vn-f
John go-3SG tomorrow the children bring-INF
John will bring the children tomorrow
O TI'vvng Ba pépet T Tand1d avplo

S Vv 0]
(9) Alsje eenfout gemaakt hebt, moet je het doorgeven
S o) Vn-f Vf Vf S O Vn-f

If youa mistake made have-2SG, have-2SGto you it pass-INF on
If you have madee a mistake, you have to pass it on.
Av €yeig kdvel AdBog, Tpémel va To TELS

V Vvnf O \% \%
(10) Wil Anna een kopje koffie?
\/ S O

Want-3SG Annaa cup coffee?
Does Anna want a cup of coffee?
H Avva 08 et kapé;

S Vv O

Conclusively, Greek and Dutch indeed fullfill the second condition of Hulk and
Miller (2000) and Muller and Hulk (2001) for transfer to occur. Whereas Greek has
ostensibly all six possible basic word orders, with SVO as its most frequent for main clauses,
VSO for subordinates and SVO as the unmarked choice for questions, Dutch functions in



another way. It has only the SVO or otherwise V2 for the main clauses, SOV or otherwise
Vfinal for subordinates and VSO for questions; no other combination is allowed. Thus, Greek
partly overlaps with Dutch since all of the three possible Dutch word orders can potentially
occur in it either as unmarked or marked orders. As previously mentioned, pragmatic needs of
emphasis or contrast related to issues of topicalisation or focus determine the exact order (
Laskaratou, 1989).

One last thing concerning these two languages that has to be mentioned because of its
relevance with this study is about the significant difference over infinitives. While Dutch
makes a great use of infinitives or past participles with auxiliary verbs, Greek doesn’t. Instead
of infinitives it uses the subjunctive and instead of past participle for the perfect tenses it uses
a sort of non-finite verb form which is actually the third person singular of the past tense
aoristos without the augment ( Holton, Mackridge and Philippaki-Warburton, 2016). The
consequence for this particular research is that every time the participants use subjunctive the
Dutch equivalent is either infinitive or past participle, in other words a non-finite verb.

As a natural consequence of previous research and theories, this particular study
attempts to give an answer to the following question: Is there a cross-linguistic influence
from Dutch to Greek in simultaneously bilingual Dutch-Greek young children concerning
word order and what is this exactly?

In order to study the above question the concept of word order transfer from Dutch to
Greek has to be more specified and operationalized. Taking into consideration the fact that
Dutch is registered as an SOV language whereas Greek as an SVO ( Greenberg, 1963), all
cases of SOV or S, Pred., V word order in subordinate clauses, all cases of a preverbal object
of verbs in subjunctive such as in general cases of verb final position in subjunctive, will be
regarded as expressions of the phenomenon. Constructions particularly with Greek object
clitic pronouns, which always take the preverbal position except for imperatives and gerunds (
Laskaratou, 1998), are excluded from this. Furthermore, declarative sentences of transitive
verbs beginning with another word apart from the subject and followed by inversion of S and
V, in agreement with the Dutch example ( Stern, 1984), are considered word order transfer
from Dutch to Greek, too. Finally, since Greek Yes/No interrogative sentences mostly
maintain the SVO word order while changing the intonation ( Laskaratou, 1998), a possible
inversion involving the verb will be regarded as a statement of transfer again under the
influence of the Dutch word order.

In line with Hulk and Miiller ( 2000) and Miiller and Hulk ( 2001) it is expected that
the young bilinguals of this particular study will show clear signs of transfer in their Greek
language. Since Greek word order is an interface of syntax and discourse pragmatics
according to the argumentation up to now and since there is indeed a structural surface
overlap among Dutch and Greek with Greek allowing all possible Dutch word orders, transfer
from Dutch to Greek seems the most probable finding. Consequently, this is the related
hypothesis formed for this particular study leaving the opposite probability of no transfer as
the null hypothesis.

Method

Participants:

For the purposes of this small-scale research three simultaneously bilingual young
children were studied: a seven year old boy, his four and a half year old sister and another
four year old boy; all of them born in the Netherlands from a Greek mother and a Dutch father
both with high socioeconomic status. Their parents were the only ones who reacted after an
open invitation through the social media and accepted to participate in the research. In order



to collect information about the languages that the children and their environment use in every
day life, BiLEC parental questionnaire( Bilingual Language Experience Calculator)
developed by Unsworth( 2013) was given to the parents of every child ( see Appendix D for
the questionnaire). All children speak exclusively Dutch with their father and Greek with their
mother, following the “one parent-one language” principle, while being additionally exposed
to English since this is the language the parents mostly use to communicate with each other.
About two years ago the mother of the younger boy began to speak with him also in English
but only outside of the house. The two brothers, on the other hand, have been attending Greek
schooling programme, about three hours every Saturday, for a year now.

Material and procedure:

Taking into account the age of all three children a method that would be based on the
spontaneous speech of them was regarded to be a good choice to study the phenomenon of
word order transfer. The initial plan was to record the children during individual sessions after
asking them to describe a set of illustrated and very imaginative cards from a famous family
board game called “Dixit”.

A first visit was made to the houses of all three children in order to make a first
contact with them and their families and to give detailed information about the research.
During this first meeting, BiLEC questionnaire was given to the parents, together with a
written permission for the participation of their children ( see Appendix B for the text of the
written permission). The second round of visits began from the older child and it did not
actually succeed. This was partly due to recording problems, but the main reason was the fact
that the material did not meet the interest and the language capabilities of the child, albeit the
oldest of the three. A certain degree of difficulty with the descriptions, which made the
procedure unpleasant, was definitely noticed. Consequently the material was changed and
another visit was planned this time with the presence of an eleven year old boy, the
researcher’s son, who was asked to participate in a free play with the researcher and with the
subject, using toys that the children would like to play with. When they asked if they could
enjoy their play alone, the boys were allowed to play without the presence of the researcher
but with the recorder on. They chose to play with a large number of toy soldiers while getting
to know each other. Their recording lasted 00:52:43 and ended when they were finished
playing.

The recording of the girl followed on the same day. A large number of toy animals, an
illustrated children’s book and her favorite dolls were used to create an imaginative play. It
lasted 00:55:00 and ended when the child asked for it.

The recording of the third child, the four year old boy, followed one week later. An
illustrated children’s book with pictures of dinosaurs such as the toy animals were used to
stimulate him to speak and tell stories. His interest was, nevertheless, captured, by the book.
The recording lasted 00:40:50 and ended when the child was clearly tired.

Results

For the purposes of this research, after listening to all the recordings, it was decided to
transcribe only the sentences produced by the children and not pieces of speech that did not
include any verb, such as noun phrases or adverbials standing alone. Likewise, as phonology
is not associated with the subject of interest, the most part of the phonological deviations
made by the children were transcribed after being corrected. Morphosyntactic mistakes on the
other hand weren’t corrected at all. Sentences that repeatedly appeared in the children’s
speech were not transcribed more than once, unless their presence was judged important for



reasons of completion of the meaning (see the Appendix A for a complete picture of the
transcriptions).

Before presenting the results one thing has to be pointed out. None of the
instantiations of word order transfer manifested by the children was actually ungrammatical.
This can be easily explained considering the structural flexibility of the Greek language,
which can express the same meaning with different word orders ( Tzanidaki, 1995).
Nevertheless, as Tzanidaki (1995) additionally points out, this doesn’t mean that they all
sound equally natural or that they are all equally preferred. The characterization of the
children’s speech as an expression of word order transfer is based on the operationalized
definition given on a previous part of the text. Clauses with a certain position of prepositional
phrases and adverbials that did not sound natural were not included as manifestations of
transfer even though they could simply because the subject of this particular study is the order
of the basic constituents of a sentence.

The results are presented in the tables below:

Table 1 Transfer Cases
Age | Recording duration | Number of clauses | Cases of word order transfer
lochildl. | 4;2 00:40:50 217 2
20 child D. | 4;6 00:55:00 124 3
3ochildN. | 7;4 00:52:43 166 12
Table 2 Kinds of transfer
Inversion of S and OV or Vfinal Interrogatives: | OV
Vtr in main clauses | Pred.V (subjunctive) | inversion (subjunctive)
in
subordinates
1o 1 1 0 0 0
child I.
20 0 0 1 0 2
child
D.
30 0 0 4 4 4
child
N.
Total 1 1 5 4 6

What is interesting in Table 1 is how low the number of trasfer cases is for the two
younger bilinguals: 2 out of 217 clauses for the boy and 3 out 124 for the girl. The older
bilingual shows a little higher percentage, 12 cases of transfer out of 166 clauses in total,
which yet remains generally at a low number.

Table 2 on the other hand presents the exact kinds of transfer each one of the three
children has made. The younger bilingual is the only one who shows transfer either in the
main or in the subordinate clauses, in particular one for each kind of clause. The second
bilingual shows transfer only in constructions which involve the subjunctive, with two cases




of object preverbal position and one with the verb in the final position. Finally the older
bilingual, apart from 8 cases of transfer related to subjunctive constructions and equally
shared between object preverbal position and Vfinal position, is the only one who exhibits
transfer in interrogatives, i.e. 4 inversions of S and V.

Conclusion

Conclusively, this particular study has shown no transfer in young simultaneously
Dutch-Greek bilingual children. The numbers of transfer cases instantiated in the spontaneous
speech of the three bilinguals don’t allow such a conclusion to be drawn. The initial
expectations are not verified in contrast to the null hypothesis which clearly holds, manifested
certainly to a greater extent in the case of the two younger bilinguals.

Discussion

One thing that certainly has to be pointed out in the discussion is the fact that this
research is made in the context of a bachelor study program, i.e. with certain expectations
concerning size and with certain limitations concerning time. Although an open invitation was
made through social media, only two parents reacted positively and three children
participated, who were additionally recorded only once( the exact duration of the recordings
for every child was given previously in the text). It can be, indeed, questioned if strong and
definite conclusions can be drawn based on it, since only a small number of data have been
collected.

Nevertheless, an attempt could be made to interpret the results based on previous
research and theory. It seems that the conclusion of Meisel( 1986) that young bilinguals know
which word order applies to which one of their two languages is, indeed, true and no cross-
linguistic interference takes place, ostensibly in contrast to what Hulk and Muller( 2000) and
Miiller and Hulk claim. The constrast is not real, though. The research of Hulk and Muller(
2000) and Miller and Hulk( 2001) is made on null and overt subject pronouns and not on
word order. These are obviously two different things and what holds for the use of null and
overt subject pronouns by young bilinguals doesn’t hold for the application of the right word
order by them. If a careful look is taken at Table 2, it can be said that negligible trasfer in
main or subordinate clauses is made, a point that could actually mean that the children really
know what is special with word order in Dutch clauses compared to Greek clauses.
Subjunctive, on the other hand, which is exclusively found in Greek and not in Dutch and
additionally forms only a part of the whole clause, concentrates the majority of transfer cases,
demonstrating a certain degree of vulnerability.

Another important point related to the results is the relatively higher percentage of
transfer in the older child compared to the younger ones. What could be a possible
interpretation of it? Initially, it could be claimed that it is only an effect of producing longer
and complexer sentences as a bilingual child grows older resulting in greater chances of
transfer. Secondly, it could be the case that the exposure of the child to the dominant language
becomes greater as the time spent with peers speaking the dominant language increases,
whereas the time spent with the parent speaking the minority language doesn’t. Argyri and
Sorace( 2007), as previously mentioned, have found the importance of the role played by the
dominant language in older bilinguals. In a study of Gathercole and Thomas( 2009) on
bilingual Welsh-English children it was found that children exposed only to Welsh at home
have comparable performances with more frequent forms at later stages, if compared to peers
exposed to both languages at home, as if the advantage of the bilinguals with double exposure
to the minority language at home dissapears with the years. Shalom and Zaretsky( 2008), who
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studied bilingual English-Russian children at the ages of four to ten, talk about language
attrition manifested already from these ages. If such an interpretation is true, we would expect
an increase in transfer instantiations if this research would be conducted again with the same
children but a later age.

Another surprising finding which was not expected and which has not been mentioned
in the results up to now, since it doesn’t constitute a case of transfer according to the
definition that is given, is the fact that eight cases of OV/Pred.V word order were found in
main clauses of the older bilingual. The interpretation of this presents is challenging first
because the Dutch main clause doesn’t allow SOV word order and, secondly, because in the
recordings it was found that pragmatic reasons did not always justify their realizations as
marked choices of Greek word order. It is certainly not a case of transfer. It could be a sign
that the child going away from the initial SVO word order , is currently struggling with all the
the available choices in Greek word order and while he tries to obey to pragmatic discourse
demands, he cannot keep up with those and, thus, he makes mystakes.

As mentioned at the beginning of the discussion, this study is too limited to allow
definite and strong conclusions to be drawn. Broader research is necessary to confirm if these
findings appear systematically and then it might be possible to give more reliable
explanations.
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APPENDIX

A. TRANSCRIPTIONS

l. 00:40:50

2 from 217 clauses with transfer and clause 144 with an SOV structure but not
considered as transfer according to the operalization.

1. Eivan  dgwvooavpoc.
\ Pr.N
Is dinosaur

He is a dinosaur.

2. Opwmg €xet  kdkaAa, £xet KpEOLG.
V 0] V 0]
But has bones-ACC, has meat-ACC
But it has bones, it has meat.

O V
3. No! @& w [vo. 10 dw]!
\Y/ 0]

Yes! Want-1SG to them see-1SG
Yes! | want to see them!

4, Koirta!
\
Look-IMP-2SG
Look!
@) \Y
5. Koita [T Aéa]!
\ @)

Look-IMP-2SG  what says
Look what it says!
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10.

11.

12.

13.

14.

Tpoet
\Y
Eats

o KEPUTOL.
@)
the horns-ACC

He eats the horns.

Ag metder  o... To TPOVE

\Y @) \Y

Kl

ovTol.
S

Not fly-3SG the... It-ACC eat-3PL and they

The...

doesn’t fly. They also eat it.

To diro 0o méosl.

S \/
The other will fall-3SG
The other will fall.

Meivave UOVO aVTES TOPOL.

\Y

S

Are left-3PL only these now
Only these are left now.

Kot yérooce T0 GAMO.

\Y S

And broke-3SG down the other
And the other broke down.

Kot 10 éAho eivar axopa @Tioypévo.

s VvV Pr.Adj

And the other is  yet  fixed
And the other one is still fixed.

Koita!
V

Avto givai!
S Vv

Look-IMP-2SG ! This is

Look!

This is it!

Ouwg avtd €yl vyl KOVTQ.

But

S VvV O
this has nails-ACC short

But this has short nails.

Koita

@) \%
[T Aéel]! Eyxel ki

14
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15.

16.

17.

18.

19.

20.

21.

Vv O Vv
Look-IMP-2SG what says! Has and here!
Look what it says! There is also here!

0] \%
Mmopei  [...] [va_7o0 Bydhel].
\% o)
Can-3SG[...] [to it-ACC take-3SG out]
[...] can take it out.

Kt eyo [...] T0 GAAO OO

S Vv @)
And 1 [...] the other foot
I also [...] the other foot.

[npe Kol TO KAEWOl.
\% 0]
Took-3SG and the key-ACC
He took also the key.

Opwg to1e gpeic mpape Alyo peydaro.
S \% 0]

But thenwe took abit big-ACC

But then we took a somewhat big one.

Ag mepdlet. Kotira!

Vv Vv
Not matter-3SG. Look-IMP-2SG
It doesn’t matter. Look!

\Y/ 0]
Aéet... [ éyer kokoha and  péoal.
\Y/ 0]

Says... [what has bones from inside]
It says... that it has bones from the inside.

\ S

Oumg xoita [mov épuye  t0 [...] TOV]!

V )

But look-IMP-2SG [that left-3SG the [...] his]

But look how his [...] left!
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22.

23.

24,

25.

26.

27.

28.

29.

Kot to dAho givorto  yépt.
S Vv Pr.N

And the otheris  the hand

And the other one is the hand.

‘Exetxt  dAho éva.

Vv S
Has and other one
It has another one also.

Oy, o To mapove.
O V

No, will them take-1PL

No, we will take them.

\Y

Eyd 6g Eépw [mov  nrave].

S \Y @)

I not know-1SG [where were-3PL]

I don’t know where they were.

Kt ovtd eivanto [...].

S V Pr.N.
Andthis is  the [...]
And this is the [...].

V Pr.N.
Aéer [6om elvan avtéc].
V @)

Says [that are-3PL these-FEM]

It says that it ’s them.

Nat... étot givat.

\V
Yes....s0 IS
Yes.... That ’s how it is.

Kov peta T KAvel
@) \Y/

And afterwards them makes kaka and afterwards goes here and afterwards them

KOKA Kol et
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30.

31.

32.

33.

34.

35.

36.

QTUAYVEL [...] Ko petd [...]xon peta UL Kol YGA0sE TOAD.
\Y \Y
makes [...] and afterwards [...] and afterwards bam and broke-3SG down a lot

And afterwards he makes kaka and afterwards he goes there and afterwards he makes
them [...] and afterwards [...] and afterwards bam and he broke down a lot.

Kot peta £yve £T01.
V

And afterwards became-3SG so

And afterwards he became so.

@) \%
Koita [t eivou]!
\% 0]

Look-IMP-2SG [what is]
Look what that is!

Kdabetar €00 [...] .
\Y/

Sits here [...]

He is sitting here.

Kot peta mpe avTd.

V 0]
And afterwards took-3SG these-ACC
And afterwards he took these.

\%
Koita Ol avtd [mov eivor  Tov dewvocavpov]!
Vv 0]
Look-IMP-2SG all these [that are-3PL the-GEN-MASC-SING dinosaur-GEN]
Look at all these that belong to the dinosaur!

Xahaoe Ko petvay poévo ta KOKaAa, 0. UEGO TOV.

VvV \/ S
Broke-3SG down and are-3PL left only the bones-NOM, the-NEU-PL inside his
He broke down and only the bones, his insides, are left.

Kot peta éoptiae.
\
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37.

38.

39.

40.

41.

42.

43.

44,

And afterwards was-3SG fixed
And afterwards he was fixed.

‘Exo Atyo.

Vv
Have-1SG a little
I have a little.

‘Exet Lo oL ‘Exet éAlo éva.

Vv 0] V 0]
Has-3SG other foot-ACC. Has-3SG another one
He has other foot. He has another one.

Topa o maifovpe.
V

Now will play-1PL

Now we will play.

Mmnaivouve kot péca. Karto xepdht. Kor omdet 10 avyd. Metd O givan  yapt.

Vv Vv S Vv Pr.N
Go-3PL in and inside. And the head.  And breaks the egg. Then will be-3SG fish
They even go in. The head also. And the egg breaks. Then it wil be a fish.

Xmder avtd T0 avyo.

\% S
Breaks this the egg-NOM
This egg breaks.

Kot petd omdel Ko peTd Byoaiver  wou petd nédAr  mhovtc!
Vv Vv

And afterwards breaks and afterwards comes out and afterwards again ploots!

And then it breaks and then it comes out and then again ploots!

‘Exet avto. Avto glvor ya [...] .

V O S V
Has this-ACC. This is for
It has this. This is for [...].

Avto eivou pirates!!
S V PrN

This is  pirates

This is pirates!!
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45.

46.

47.

48.

49,

50.

51.

52.

53.

Avtd glvan dAoyo. Avtd mhetkaw to GAAo Tael kot [vo kdToet].
S V Pr.N. S Vv S V Vv

This is horse. This goes and the other goes and [to sit-3SG]

This is a horse. This goes and the other goes to sit also.

Ouwg etvan Alyo pukpd, &;

\Y/ Pr.Adj.
But is abit small, he?
But it is a bit smal, he?

Koirta 0! Avto TpmEL.

\Y O S \Y
Look-IMP-2SG it-ACC! It eats
Look at it! It is eating.

Képato etvan t°  dvoud tov.
PrN V S

Horn is the name his

Horn is his name.

Avt6 givar Kopitol képarto.
S Vv Pr.N

This is  qirl horn

This is a feminine horn

To TPOELTO KOpiTol.
@) \% S
It-ACC eats the girl
The girl is eating it.

TeAeiwoe TO KOKOAO, TEAEIWO. ..

S 0] \V
Finished-3SG the bones-ACC, finish...
He finished the bones, he finish...

Kot tpoet ta [...] ko peta TPOEL KOL LETA TPOEL AVTO.

V O V vV O
And eats the [...] and afterwards eats and afterwards eats this
And he eats the [...] and then he eats and then he eats this.

Kot tpdet kot to [...] korto peydro!
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\Y/ O
And eats and the [...] and the big
And he eats also the [...] and the big one!

Kot 6o @der  «xou t0[...].
\Y )

And will eat-3SG and the [...]

And he will also eat the [...].

\% 0]
Tpmet kot ovtd KO PETA nael [va pder ko To GAAO].
\% O \%
Eats and this-ACC and afterwards goes [to eat-3SG and the other]
He eats also this and then he goes to eat the other one also.

Ko petd EMECE.

S7.

58.

59.

60.

61.

V
And afterwards fell-3SG
And then he fell.

Kot 1o ‘paye  avTto.

@) V 0]
And it-ACC ate-3SG this-ACC
And he ate this.

Tpoet ko ... Kl €00.
V

Eats and the-ACC-FEM-SG.... and here

He also eats the..... here.

Kot Bydler  xou [...] xon yrdmnoe Adyo.

Vv Vv
And takes out and [...] and is hitten a little bit
He also takes out [...] and he is hitten a little bit.

\Y/
Koita [t €iv’ omd péoo tov]!
\/ O
Look-IMP-2SG [how is  from inside his]
Look how he looks like from inside!

Eivai éto!
V
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Is SO
That ’s how it is!

"Eyet ko modua, Bpe!
\% 0]

Has and feet-ACC, boy

Boy, it has also feet!

Av10 mdel 6To Aoupo.
S V

This goes tothe-ACC-MASC-SG neck

This goes to the neck.

Kéver mhovtg, mhovtc!
\/ 0] @)

Does ploots ploots

It does ploots ploots!

\% 0]
Kot méet [vo pder  owto]!
\%
And goes [to eat-3SG this-ACC]
And it goes to eat this!

Kot o0  ‘poaye v ovpd tov.
O.In. Vv O.D.
And his  ate-3SG the tail his

And he ate the tail of him.

Kot peta naer  to baby!

\% S
And afterwards is gone the baby
And then the baby is gone!

Ko peta 10 ‘paye Kol UETA moel!

@) VvV \
And afterwards it-ACC ate-3SG and afterwards is gone
And then he ate it and then it is gone!

Kot petd 1o ‘paye Vv ovpll  TOL KO UETA TTNPE T GALO KoL
O.In \% o.D \ @)
And then it-ACC ate-3SG the-ACC tail-ACC his and then took-3SG the others and
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70.

71.

72.

73.

74.

75.

76.

T0 ‘paye KOl LETA PEVYEL.
O \ \
it-ACC ate-3SG and then goes

And then he ate the tail of him and then he took the others and he ate it and then he

goes.

Kt ovto ydrooe.

S \/
And it broke-3SG down
And it broke down.

Opwmg épxetonr kKt GALO €va.
V S

But comes and other one

But also another one comes.

Mmraivel Atyo.

Vv
Gets in a bit
It gets in a bit.

‘Epaye... tpoet... épaye Kot tnv ovpd Tov.

\Y \Y V @)
Ate-3SG... eats... ate-3SG and the-ACC tail his
He ate... he is eating... he also ate his tail.

Metd émece kol TO GAAO Ko TpE T0 peydro.
\Y S \% o)

Afterwards fell-3SG and the other and took-3SG the big-ACC

Afterwards the other one also fell and it took the big one.

Opog éxet k. GAAec.

V 0]
But has and others-FEM
But it has more.

‘Exel xépuwo,;

vV O
Has hands-ACC
Does it have hands?
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77.

78.

79.

80.

81.

82.

83.

84.

Kot yopevet.
V

And dances

And it dances.

Oumg Ntave.. Ko mn  HOUA TOVE KOl LKPOLAIVL Kot TOPO. LEYAA®GE
T. \Y S V Pr.N.

S

But was.. andthe mum was and little one and now is grown up the mum and

But mum was also a little one and now mum and Ivo is grown up.

Eyo peydlmoe.
S \%

| isgrown up

I is grown up.

Topo peydlowco  €tot.
\Y

Now am grown up so

Now | am grown up so.

Opwg éxovpe  évape  yoptakt  omd oyoAeio.
\ @)

But have-1PL one with paper-DIM from school

But we have one with paper from school.

Kot petd pAémer monster Ko Petd mETae.
V 0] V

And then sees  monster-ACC and then flew-3SG

And then he sees a monster and then he flew.

Otav Ntave UIKPOC.
\ Pr.Adj.

When was-3SG young

When he was young.

Q) YoAoce  tOo pkpovAwko 1.
@) \Y S
And it-ACC broke-3SG the little I.-NOM

And little Ivo broke it.
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Eyo... 6tav frove UKPOVAIKOG,
S \Y Pr.Adj.

I...  whenwas-3SG little

I... when I was little.

Eyd 10 YoAooo TOAYD.
S O \/

I it-ACC broke down a lot

| broke it down a lot.

Orav 1pba 0TO O1KO GOV OTiTL Kot LETE TO YoAooa.

Vv 0] V
When came-2SG tothe own your house and then it-ACC broke-1SG
When | came to your house and then I broke it.

Otav Ntave HUIKPOVALKO, TTHyQL 610 0O GOL omiTL Kol HeTd EQuye T0
\Y Pr.Adj V V
When was-3SG little went-1SG tothe own your house and then 1eft-3SG  the
UUKPOVALKO.
S
little one

When | was little, I went to your house and then the little one left.

Kot BAémer to avtokivnTo.
V 0]

And sees the car

And he sees the car.

BAémer €0 k1 €d0m!
V
Watches here and here
He is watching this and this.

Kot t0Ifo [...] xou petd méet... mye 010 OmiTL ToL Ko O ofdtal
S V VvV \ \
GANo.
And the Ivo [...] and then goes... went-3SG tothe house his and not is scared
anymore.
And Ivo [...] and then he goes... he went to his house and he isn’t scared anymore.
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92.

93.

94.

95.

96.

97.

98.

Kot kpOfet kot 1o Ke@dAl Kol 6TO0  TOPTOKOAL KOt T1 KpOPEL £0..
\% o) O V

And hides and the head-ACC and tothe orange and her hides here

And he also hides the head to the orange and he hides her here.

Kot petd gedvyet ko kbvel kot £T01.
\/ V

And then leaves and does and so

And then he leaves and also does so.

\
Avpio Bo maue oTO0 MmMOUTAKO GOV, GTO  UTOUTAKO OV, Kol LETA Oa
10 oTidet..
O \

Tomorrow will go-1PL tothe dady your, tothe dady my, and then will
it-ACC fix-3SG
Tomorrow we ‘Il go to your dady, to my dady, and then he will fix it.

Eivor oo pactopoc.
Vv Pr.N.

Is like craftsman

He is like a craftsman.

\
Onwg ydAaoce TO OVTOKIVNTO TOL pmopnd [...] yatt o
YoAooa. .. S 0]
\
But broke-3SG down the car the-GEN dad [...] because it-ACC
Broke-1SG

But dady ’s car broke down [...] because I broke it.

‘Epuye 10 KAEO1.

\ S
Left-3SG the key-NOM
The key left.

[Noti  ékave  pmouvp kot YOAOGE.
\Y/ O \Y/
Because did-3SG boom and broke-3SG down
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Because it did boom and broke down.

99. [...] peydro ko mder pali Tov.
\
[...] big and goes with it-GEN
[...] big and it goes with it.

100. “Eyxetxonl pmae.
V 0]
Has and blue
It has also blue,

101. Ko perd o ‘paye!
@) \
And then it-ACC ate-3SG
And then he ate it!

102. Kot 1o terelwOE.. Kot petd to ‘paye  TO WKPO TO UEYAAO.
O \Y @) \ @) S
And it-ACC finished-3SG.. And then it-ACC ate-3SG the small the big
And he finished it.. And then the big one ate the small one.

103. Ko petd épaye Kot v ovpd TOVL Kl €MECE.
\Y O V
And then ate-3SG and the tail-ACC his and fell-3SG
And then he ate his tail also and he fell.

104. Ko petd to TerElmoE Kot TAEL TO UEYOAO KO TO HIKPOVALKO.
@) \Y/ \Y/ S S
And then it-ACC finished-3SG and goes the big  and the little
And then he finished it and the big and the little one is gone.

105. Koital To ‘paye ko1 TO tehelwoe Kl £&mECE.
Vv 0] Vv 0] Vv Vv
Look-IMP-2SG! It-ACC ate-3SG and it-ACC finished-3SG and fell-3SG
Look! He ate it and he finished it and he fell.

106. Oy o tpodetta ydpo.
\V 0]
No not eats the fishes
No he doesn’t eat the fishes.
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107.

108.

109.

110.

111.

112.

113.

Tpwetl pdévo eaydxio.

\% @)
Eats only food-DIM-PL
He eats only food.

[Mati  eivon éva caArykdpt.

V Pr.N.
Because is a snail
Because it is a snail.

@) \
Kot to ‘paye KOl TO PLEYGAO OTOMO KOl TO ‘paye KOl TNV OVPA TOV KL
Enece  €00. O O V O
\

And it-ACC ate-3SG and the big mouth and it-ACC ate-3SG and the tail
fell-3SG here
And he ate the big mouth and he ate also its tail and he fell here.

Kot petd met €00.. kon petd Oa otidéer avtnv... Kot [...] Oha avTd.

\Y \ @)
And then goes here.. and then will fix-3SG this-FEM... and [...] all these
And then he goes here.. and then he will fix this... and [...] all these.

To ‘paye 10 GALO.
0] \/ 0]
It-ACC ate-3SG the other
He ate the other one.

[...] épaye Kol TNV OLPA TOL KU £MEGE.

\Y O V
[...] ate-3SG and the tail his and fell-3SG
He also ate his tail and he fell.

Topa Bo to  paléyovpe.
@) \

Now will them pick-1SG up

Now we will pick them up.

S \ )
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114.  Nou 6pmg epeig eldape  TAedpaon pe T yoyd Kat ™
OOV EYTEC.

Yes but we watched tv with the grandma-ACC and the-ACC-FEM
grandpa-ACC yesterday
Yes but we watched tv with grandma and grandpa yesterday.

115.  Avtd eivon [...] xat... mov Kdvel €To1.
S V \Y/
This is [...] and...that does so
This is [...] and... that does so.

116. Avtd eivan Groyo.
S V Pr.N
This is horse

This is a horse.

117. Koiza, EXEL YPOUATOL.
Vv Vv 0]
Look-IMP-2SG, has colours
Look, it has colours.

118. To QOKIOL OTAEL TN mhryo.
S \/ 0]
The-NEU seal  breaks the-FEM-ACC ice-ACC
The seal breaks the ice.

119. Oyt.. awt6 kdvet étot... maooatc!!!
S VvV
No.. this does so... plaaaats
No.. this does so... plaaaats!!!

120. TIlvye oto GvOpoma potaKio.
Vv
Went-3SG tothe-NEU-PL-ACC human  eyes
He went to the human eyes.

121. Eiyxe Kot vepo.
V @)
Had-3SG and water
It had also water.
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122. Epeic idape ond  paxpid.
S V
We saw  from far
We watched from far.

123. Ouwmg gpeig 1o TNPOLLE. ..
S O V
But we it-ACC took-1PL
But we took it.

124.  TIqyope o Ba [...].
\
Went-1PL and will [...]
We went and we will [...].

125. Orav Bédro 10 vePO kot Bo  mviyel.
Vv O Vv
When put-1SG the water-ACC and will drown-3SG
When | put the water and it will drown.

126. Koita, éxet étot!
VvV V
Look-IMP-2SG, has so
Look, it has this!

127. Ko BéAet GTO Y£PL HOV £00.
Vv
And put-3SG-SUBJU tothe hand my here
And he puts this in my hand.

128. Oy, topa Bo  eridovpe kéik, Ppe!
\% 0]
No, now will make-1PL cake, boy
Boy, no, now we will make a cake!

129. Topa terewdcope!
\V
Now finished-1PL
Now we finished!
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130. Ilowog Ntave;
PrN V
Who was-3SG
Who was it?

131. Oaoa @dw kol o 7.
Vv Vv
Will eat-1SG and will say-1SG
I will eat and | will say.

132. Topobo wo.
\Y
Now will say-1SG
Now | will speak.

133. Kot topamov ta  poaléyape..
o \%
And now that them picked-1PL up
And now that we picked them up..

134. Oy, Oy, o€ tekeimoa!
\Y/
No, no, not finished-1SG
No, no, I didn’t finish!

135. 'Hrtave  moAd kdto, Ppe!
Vv
Was-3SG very down, boy
Boy, it was far down!

136. Ko topa eaivetat.
Vv
And now looks
And now you can see it.

137. Oy, etvar Tov devdcavpov.
\/

No, is the-GEN dinosaur
No, it is of the dinosaur.



138.

139.

140.

141.

142.

143.

144,

145.

Kt ovto givar to mHoL oV JEWVOCAVPOV.
S V Pr.N

And this is  the foot the-GEN dinosaur

This is also the foot of the dinosaur.

Vv
Ag pmopei [va Byet]!
\ 0]
Not can-3SG [to get-3SG out]
It can’t get out!

Ouwg peta o 7O yohdoet o  AGALOG

@) \Y/ S
But afterwards will it-ACC break-3SG the other-NOM
But afterwards the other one will break this.

®o mé@ToLpE HECA GTO ...
\

Will fall-1PL in  tothe....

We will fall into the....

[...] Myo ot PByaiver Ayo.

\Y/
[...] alittle and gets out a little
[...] alittle and it gets out a little.

Eiv’ and mico.
\/

Is from behind
He is behind.

Oyt... k1 o010 g KL on’ 10 A0 O Qopdiet.

S 0] Vv
No... and this but and from the other not wears
No... but also this doesn’t wear the other one.

Av16 givon yovia [...]
S V PrN
This is angle[...]

This is an angle.
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146.

147.

148.

149.

150.

151.

152.

153.

V
Koita! Mmopei ko [va Byet]!
V Vv 0]
Look-IMP-2SG! Can-3SG and to come-3SG out
Look! It can also come out!

Topa Pyaivet.

\
Now gets-3SG out
Now it gets out.

[IMpa KL aLTo.
V 0]

Took-1SG and this

| took also this one.

Mmnopel [...] k1 om’ v GAAn.
VvV @)

Can-3SG [...] and from the other

It can [...] also from the other side.

Koirta! Meivave pévo ta [...] kepdil!

\Y V S
Look-IMP-2SG! Are-3PL left only the [...] head-SG
Look! Only the [...] head are left!

Kot éBoie £00.
Vv

And put-PST-3SG here

And he put here.

Epeig pévoope 610 mpaocivo.
S \Y/

We live tothe green

We live in the green part.

Ed® pévovpe epeigkt €00 pévet N yoyd  Koum TOTTOVG.

\/ S \ S S
Here live-1PL we  and here lives-3SG the grandma and the-FEM grandpa
We live here and grandma and grandpa live here.
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154.

155.

156.

157.

158.

159.

Ecv pévelg ed0.

S V

You live  here

You live here.

Opwg o mog He TO OWTOKIVNTO GOV.
Vv

But will go-2SG with the car your

But you will go with your car.

Opwc 0o mog TpOTo [...] €T0L... Ko petd o mog TOVG
\ \

But  will go-2SG first  [...] so... and then will bring-2SG the-ACC

deOGaVpPovg Kot PeTd Ba Tog gee.... €00.
@) \

dinosaurs-ACC and then will go-2SG  heee....here.

But you will go first [...] so... and then you will bring the dinosaurs and then you will
go heeee....here.

Opocn  6Bdrhacca éxetéva  yepupoOAa.

S Vv o)
But the sea has a-NEU bridge-FEM-DIM
But the sea has a bridge.

Ki epeigBa oridgers... Oa  mdpovpe tovPra ko Oa metdéovpe o Géva.
S \ \ @) \

And we will make-2SG...Will take-1PL bricks and will throw-1PL to you

And we will make... We will take bricks and throw to you.

Kot petd Bo oTaEelg  eob mpOTA AVTA KoL TO. TOVPAN £Tot Ko LeTd Oa
\/ S @) )
And afterwards will make-2SG you first  these and the bricks so and then will

otidEovpe popd momnd. .. £To, £Tot... Ko otyd oryd B ‘vor  dpopo.

\% S S Vv Pr.N
make-1PL mum dad... so, so... andslowly will be-3SG road
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160.

161.

162.

163.

164.

165.

166.

And afterwards you will make these first and the bricks so and then mum and dad will
make... so, so... and slowly it will be a road.

Kot petd to metd&ovpe v GAAN.

O V
And afterwards it-ACC throw-1PL-SUBJU-PERF the other
And afterwards we will throw it to the other side.

Kot petd eov to ‘Baeg Ko petd mpope  €va v tov 1. ko petd
SO \ \ )

And then you it-ACC put-2SG-PST and then took-1PL one for the I. and then

T0 ‘Bare o 'L xou petd pmopet.

@) \Y S \Y

it-ACC put-3SG-PST the I. and then can-3SG

And then you put it and then we took one for Ivo and Ivo put it and then it can.

Eyxtéc  eueic prua&ape 1o YEQPULPOVALL Kot To Ao
S \Y @) @)
Yesterday we made the-ACC-NEU bridge-DIM-FEM and the other-ACC

T0 KAvVOpE [...].

o Vv

it-ACC did-1PL [...]

Yesterday we made the bridge and we did the other [...].

Ecv éBaieg €00.
S V

You put-2SG-PST here

You put here.

Koita! Av16 et €.

Vv S V
Look-IMP-2SG! This goes here
Look! This goes here.

Ko petd ta  oridyver steen.
0] Vv

And then them makes steen

And then he makes them stone

Edd Byaivovve ta [...] Tov.
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167.

168.

169.

170.

171.

172.

173.

\ S
Here come-3PL out the [...] his
Here, his [...] come out.

Oy, eym Bo. cov ociém.

S @) \/
No, I  will you-GEN show-1SG
No, | will show you.

[Ipdta B0 tpodel  €d0.
Vv

First  will eat-3SG here

First he will eat here.

Oo mher €0 péca, Bo maer  €0M, €0M, £0M [...] ko petd Bo mwheL
\/ V \Y/
Will go-3SG here in,  will go-3SG here, here, here [...] and then will go-3SG

€0m!
here
He will go in here, he will go here, here, here [...] and then he will go here!

Kot 0o erid&er 1o avyd €60.
\ 0]

And will make-3SG the eggs here

And he will make the eggs here.

Kot petd [...] xar gedyetoto PdOog kKo petd mwhet oty ovpd Tovg Kot
\ \
And then [...] and goes tothe depth and then goes tothe tail their and

eTiqyvel Steentjes Kol LETA TEGOVE TOL  KOKOAOQLOLOWL. . ..
\% 0) \% S
makes steentjes(dutch word for little stones) and then fell-3PL the boooones....

And then [...] and it goes in depth and then it goes to the tail and makes little stones
and then the bones fell....

Edm eivan to  peyd... avtég!

\V S
Hereis thebi... these
Here is the bi... these!

Opmg £xet ko T€TO10 KO £TGL TOV KAVEL. . .
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174.

175.

176.

177.

178.

179.

180.

181.

But

Koita
V

Oy yati

\ @)

\

has and such and so that makes
But he has also such things and the way he does...

O
[T

\Y

kavel]! Eivou avto.

\Y

No because has a
No because it has a button.

Onwg

But

Kotta!
V

Etvon péoa.

\Y
Is

inside

It is inside.

0]
Look-IMP-2SG what-ACC does! Is this
Look what it ‘s doing! It ’s this.

@)

button-DIM

"Eyetl tétotec!

£xel Vo KOuUTAKL.

V O
look-IMP-2SG! Has such-ACC-FEM-PL!
But look! He has these!

Otav tpoet... 'Exava Alya [...]

\ \Y

@)

\

When eats... Made-1SG a few [...]

When he eats... [ made a few [...]

‘Enpene éto1.

\

Had-3SG to so
So it had to.

Otav tpodet, To mheL. ... Oo TAEL EOO.

V OV

\

S

When eats, it-ACC brings.... Will go-3SG here.
When he eats, he brings it.... It will go here.

Meta

otav to
O

TpoEL, o mhet

\Y

\%
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182.

183.

184.

185.

186.

187.

Afterwards when it-ACC eats, will go-3SG here, here, here, here and then it-ACC

KOVEL UTOL UTOV UTOV POV KOL TOL  TAEL TO QAYAKL KOl TO.... KOl HET
\ o.D O.In V o.D @)
does boo boo boo boo andthem brings the food-DIM and the.... and then

T0  KOVEL KOKA.
0] Vv
them makes kaka-ACC

Afterwards when he eats it, he ‘1l go here, here, here, here and then he does boo boo
boo boo to it and he brings them food and the.... and then he makes them kaka.

Kot petd méer ota  steentjes.. Kot LETA T QTId Ve Steen..
\ O V

And then goes tothe steentjes(dutch word for little stones).. and then them makes steen

And then he goes to the little stones.. and then he makes them stone..

Metd pedyet.
\%

Then goes

Then he goes.

Metd mhetl €dm, €00, €00.. Kot HETA Pyaivel KoKA péoa €00.
\% \% S

Then goes here, here, here.. and then gets out kaka-NOM-PL-NEU in  here

Then it goes here, here, here.. and then kaka gets out in here.

Eivor Atyo koAAnopévo ywati  éPaie KOALOL.
\ Pr.Adj. \ @)
Is  abit stuck because put-3SG-PST glue

It ’s a bit stuck because he has put glue.

Kuv €opepe KL owTo.

\Y/ @)
And brought-3SG and this-ACC
He also brought this.

Aéel... TOpa... 10 GALO Eleye abvplo... ywti 1o éAho 1o [...]
\Y S Vv @)
Says... now... the other said-3SG tomorrow... because the other the [...]
It says... now... the other one was saying tomorrow... because the other [...]
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188.

189.

190.

191.

192.

193.

194.

195.

Av106 Tpémel M.

S \%
This has  here
This has to go here.

Bpnke OVTEG.

\/ 0]
Found-3SG these-FEM
He has found these.

Ko mmpe KL O0TO KU O0TO KU avTd... KOl LETE TOiPVEL QVTEC.

Vv 0] 0] 0] \V 0]
And took-3SG and this and this and this... and then takes these-FEM
He also took that and that and that... and then he takes these.

Metd moipvetl oot KOl LETAL TTOUPVEL TNV GAAT).

V 0] \Y/ o]
Then takes this-ACC-FEM and then takes the other-ACC-FEM
Then he takes this one and then he takes the other one.

\Y
Ae pmopel  [va Pyel]  owto.
\ @) S

Not can-3SG [to gets out] this-NOM
This can’t get out.

\%
Koita [rov éoxice Alyo]!
\% 0]
Look-IMP-2SG [that ripped-3SG a bit]
Look how it has ripped a bit!

Otav Ntave UIKPOG.
VvV Pr.Adj.

When was-3SG young

When he was young.

‘Htave  moAd pik...  Axopa sivon pukpd!

V Pr.Adj. V. Pr.Adj
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196.

197.

198.

199.

200.

201.

202.

203.

Was-3SG very youn... Still is  young
He was very youn... He is still young!

Ta  ydrooe.

0] V
Them broke-3SG
He broke them.

Age mepdlet.
\/
Not matters
It doesn’t matter.

o 1o erdéel o motdg! ®a eTuaEel kot to Pifido, Bpe!
O \% S \% 0]

Will them fix-3SG the dad!  Will fix-3SG and the book-ACC, boy

Dad will fixx them! He will also fix the book, boy!

Oa  kavet lijm Ko petd Oo  peivelt  kKoAAnuévo.
vV O \% Pr.Adj.

Will make-3SG lijm(dutch word for glue)-ACC and then will stay-3SG stuck

He will make glue and then it will stay stuck.

Kot petd Oa kdvet kat. ... kot 0o cov deiém.

\Y O V
And then will make-3SG and.... and will you-GEN show-1SG
And then he will make also.... and I will show you.

Ey® 6o cov oeié.

S O \%

I will you-GEN show-1SG
I will show you.

o xaver £€totkotBo  eTriaEer  Kou TV GAAN ko petd Bo elvar  dpopoo.
V V 0] V Pr.Adj.

Will do-3SG so  and will make-3SG and the other and then will be-3SG beautiful

He will do this and he will also make the other one and then it will be beautiful.

Pr.N. \Y/
Kot 6o ot o Kaovotavrivog... kot B det [lijm 6t givou].
\Y S \Y/ @)
And will see-3SG the Konstantinos-NOM... and will see-3SG [glue that is]
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204.

205.

206.

207.

208.

2009.

210.

211.

And Konstantinos will see that it is glue.

Kot e 0a 10 YoAdoEL.
0] V

And not will it-ACC break-3SG

And he will not break it.

\/
Ae  TOvL [...] [vayordoer  pe 10 kOAAQ].
O.In. \/ 0.D.
Not him-GEN [...] [to break-3SG with the glue]
He [...]n’t[...] him [to break with the glue]

@) \Y
Kot 0o eivor  koAAnuévo kau e pmopovoe [va o Bydiret].
\ Pr.Adj. \Y @)
And will be-3SG stuck and not could-3SG [to it-ACC take-3SG out]
And it will be stuck and he couldn’t take it out.

Ag Kavel 1oL
V

Not does so

It doesn’t do so.

Topa dev £xet kKOALO.

vV O
Now not has glue-ACC
Now it doesn’t have glue.

[Noti 1o navteye 0 GALOG.
0] \% S

Because it-ACC guessed-3SG the other

Because the other one guessed it.

V O
Nopoe [6T1 éyer kOMAQ].
\% 0]

Thought-3SG-PST [that has glue-ACC]
He thought that it has glue.

Koita LT eom!
\ @)
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212.

213.

214.

215.

216.

217.

Look-IMP-2SG this-FEM-ACC here
Look this one here!

Mot gytéc YO 0GE 10 dAMo.
\% S

Because yesterday broke-3SG down the other

Because yesterday the other one broke down.

Metd mpa 10 dA...
Vv 0]

Then took-1SG the oth...

Then I took the oth...

Oa mdhel Tow.
\%

Will go-3SG back

He will go back.

Eyo elpon mo  peydrog.

S V Pr.Adj.
I am more big
| am bigger.

Avtd glvor GALO KU €xelkl  GAAEC.

S V  Pr.Adj. \Y/ 0]
This is other and has and others-FEM
This is different and it has also others.

Moud, tTeAeidoope pe  To....
\Y

Mum, finished-1PL with the-PL-NEU....
Mum, we have finished with the....
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00:55:00 3 from 124 with transfer

Avto givar Tov N. Kl ovTd glval 01kd pov.
S \Y S V

This is  the-GEN N.-GEN and this is own my

This is N.’s and this is mine.

0] \%
Koita [Tt xdével]!
\ 0]

Look-IMP-2SG [what does]
Look what it does!

Ti  peydro siva!

Pr.Adj. V
What big IS
It’s so big!

T £tv’ avto;

V S
What is  this
What is this?
\ @)
Eivot éva movddkt,  Opmg pmopel  [va kdvet Ko Qaocapia].
\ Pr.N.. \Y/ @)

Is a bird-DIM, but can-3SG [to make-3SG and noise]
It is a bird, but nevertheless it can make noise.

MAmog 6Tt vt Alyo KU 00TO YOAUGE..

S VvV
Maybe that this a little and this broke-3SG down
Maybe this one a little and this broke down..

Nat, Ta Eépo.
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10.

11.

12.

13.

14.

OV
Yes, them know-1SG
Yes, | know them.

O V
Mnfno¢ o praundc pov umopel [va to etidée]. ..
S \% o)
Maybe the dad my can-3SG [to it-ACC fix-3SG]
Maybe my dad can fix it...

\Y
Kot de umopodvoe [dAlo vo Byel ], 6pwg Pynke.
\Y @) \
And not could-3SG [more to come-3SG out], but  came-3SG out
And it couldn’t come out any more, but it did.

Opomg eyo &y xat...
S V

But |  haveand

But I also have...

Avto gtval £va AVKO.

S \V Pr.N.
This is  a-NEU wolf-MASC
This is a wolf.

Ku &yo éyo Atyo.

S v O
And |l  have a few
| also have a few.

Kt  avto eivon avtokivnro.
S V PrN.

And this is car

And this is a car.

Agv glv’ {odxt!

V  Pr.N.
Not is animal-DIM
It ‘not a little animal!
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15.

16.

17.

18.

19.

20.

21.

22.

S OV
Eyo, Eépeig [t €yovue GAO];
\% 0]
I,  know-2SG [what have-1PL more]
I, do you know what more we have?

Kt avto stvon éva Codikt.

S V Pr.N.
And this is an animal-DIM
And this is an animal.

Ed® éyel AMyo pmhe.

V 0]
Here has a little blue
There is a little blue here.

Tt Ba o@dve 1otE QW14

O \% S

What will eat-3PL then these-NOM
Andwhat are these going to eat?

Av16 givon peydro, Opmg.

S V PrAdj.
This is  big, but
But this is big.

Kot 6o elvar  avtd to poyntd!

\ S Pr.N.
And will be-3SG this the food
And this will be the food!

Ki & 6o éxovpe 1 Ao @aynto.

\/ 0]
And here will have-1PL and more food
And here we will have more food.

\
Mnnoc KL avtd pmopel  [va umet uéoa 6To  vepo]..
S V )
Maybe and this can-3SG [to get-3SGin  tothe water]
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23.

24,

25.

26.

27.

28.

29.

30.

This may also be able to get into the water..

\%
Kt €dd éyetxor pio tpdma yio vo pmopet  [va umer  péoal.
\% o) \% o)
And here has and one hole-ACC to can-3SG [to get-3SG inside]
Here there is also a hole so that it can get inside.

Eivar avtd évo.

Vv S Pr.Adj.
Is this one
This is one.

‘Exetxt  dAho éva. Opwg mod  elvai;
\/ 0] \Y/

Has and more one. But where is

It has one more. But where is it?

[Tod 6Bo sivoar... 7O Oo pévovve avtn  oapkovOw;
\Y \Y S

Where will be-3SG... where will stay-3PL this the bear-NOM

Where will it be... where will this bear stay?

Av1d! Elvar ko moAd peydhro.

\ Pr.Adj.
This! Is and very big
This! It ’s also very big.

Vv Vv O
Aoce [O mov Oa wpéner [S va Byddw Oho.. tpduata ] ...
Vv
Let-IMP-2SG [that will have-3SG to [to get-1SG out all.. things]]
Besides.. | will have to get all.. things out.

‘Exovpe  wor Adya Pipiia péoa!
V O

Have-1PL and a few books inside

We have also a few books in there!

Opwg e mepalet.
\Y
But not matters
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31.

32.

33.

34.

35.

36.

37.

38.

But it doesn’t matter.

V o]
Mmnopd  [va mhpo Kot to Bifrio].
V O
Can-1SG [to take-1SG and the books]
I can also take the books.

0]

Ouwg B mpémet ouwg [ovtd to... vato  paléyovue petd]!

\ S

But will have-3SG to but [these the...to them pick-1PL up later]

But we ‘Il have to pick these... them up later!

Opowg va Bydio Ta... o dypuo Loa.

VvV @)
But to get-1SG out the... the wild animals
But I will get the... the wild animals out.

Opocmov  Bo PdAovpe avTd T HIKPA;

\% 0]
But  where will put-1PL these the small-PL-NEU
But where are we going to put these little ones?

Topa &govpe 600 0PKOVOES.
V

Now have-1PL two bears

Now we have two bears.

Avtd €iv’ To  Todaxt.
S V Pr.N.
This is the child-DIM

This is the little child.

Avto elvon popdKt GKOAAKL.

S V Pr.N.
Thisis  baby-DIM dog-DIM
This is a puppy.

VvV
Ko ydraoe yU autd  pmopel  [vo pmet

\ \
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39.

40.

41.

42,

43.

44,

45,

46.

And broke-3SG down that ’s why can-3SG [to get-3SG in there]
And it broke down that ’s why it can get in there.

\
Av16 ydrace! Ouwmg pmopet  [va pmet uéoal...
S \Y \ @)
This broke-3SG down! But  can-3SG [to get-3SG in]
This broke down! But it can get in...

Etvar  aypro.

V  PrAdj.
Is wild
It is wild.

Opwmg avtod Pynke.

S V
But this came-3SG out
But this came out.

Oo Q4w Kl €YO eKel.
V S

Will eat-1SG and | there

I will eat there also.

Elvan ket Adxog.. Tpoet[...].
\Y/ S \Y/

Is  there wolf-NOM.. Eats [...]

There is a wolf there.. He is eating [...].

Me Aéve A. .
OV

Me say-3SG D.
My name is D. .

Eyod 8o @Oyo.

S Vv
| will leave-1SG
I will leave.

[Maw 610 dypro {®o...  vo Qo Atyo.
\/ \
Go-1SG tothe wild animal... to eat-1SG a little
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47.

48.

49,

50.

51.

52.

53.

54,

I will go to the wild animal... to eat a little.

Koirta tOtE amod kelv ™ mAevpd!
V

Look-IMP-2SG then from that  the side

Look then at that side!

Eyd 0o ¢paom.
S V

| will eat-1SG
I will eat.

Kavovpe koekelekoe.

\% 0]
Do-1PL koekelekoe(dutch word for cock-a-doodle-doo)
We are crowing cock-a-doodle-doo

Oa moaifovpe to dypuo oo kL gy® o ka... B to  PAicw.
\Y @) S @) \Y

Will play-1PL the wild animals and I~ will ... will them [...]

We will play with the wild animals and | will ... will [...] them.

"Elo va ag €00 [...] .

\ vV S
Come-IMP-2SG to eat-2SG you-NOM [...]
Come to eat.

Olato dypata Coa ™ Aéve  A..
@) O V

All the wild the animals her say-3SG D.

All wild animals call her D. .

Kavoope koxd.

\% 0]
Do-1PL kaka
We are doing kaka;

\ vV O
Movo 6élovpe [Tpdue Kat.. Kat... Kot eaue Kokd].
\ @)
Only want-1PL [eat-1PL and.. and... and eat-1PL kaka]
We only want to eat .. and ... and... and to eat kaka.
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Koita! [Vavtd 100 dAhale.

\ @) \Y/
Look-IMP-2SG! That ’s why them changed-3SG
Look! That ’s why he changed them.

‘Eleya [...]
\%
Said-1SG
| was saying [...]

Kt eov amd PECO Yo VoL OELG [rag...]
S \% 0]

And you-NOM from inside  to see-2SG [ how...]
And you inside to see how...

[Tovd Bo mwhte O TOPO;
\Y/

Where will go-2PL but  now

But where will you go now?

No un  deic!
V

To not see-2SG

Don’t look!

Nat, t0 EEp.

0] V
Yes, it-ACC know-1SG
Yes, i know it.

\Y/
Eépelc [mob  eivarekeivn  1... ue ta Coal...]1];
\ @)
Know-2SG [whereis  that-FEM the-FEM... with the animals [...] ]
Do you know where that.... with the animals is?

\
Eyd 0ého [va odom].
S V @)
I want[to eat-1SG]
I ‘m hungry.
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63.

64.

65.

66.

67.

68.

69.

70.

Eyo 0o @aw  Alyo €00.
S \/

| will eat-1SG a little here

I ‘11 eat here a little bit.

Oy, va 1o Kévovpe étot!
O \%

No, to it-ACC do-1PL so

No, we should do it this way!

V o]
OLo [va Bdoovue o BifAia].
V O
Want-1SG [to read-1PL the books]
I want us to read the books.

Eyo Balow mpdta avtd.
S V 0]

I put first these

| put these first.

O \% \% 0]
Mmopeig [ vo pe Bonbnoeic [va Bdho 1o Bifiia ]];
\% O
Can-2SG[ to me help-2SG [to put-1SG the books] ]
Can you help me put the books here?

V Pr.Adj.
O N. Aéer [6T1dev eipon kaln], Opmg gipon KoAn!
S V @) V Pr.Adj.
N. says [thatnotam good],but am good
N. says that I “‘m not kind, but I am kind!

Noau, €xelg dikio!
\ @)

Yes, have-2SG right

Yes, you ‘re right!

Ae Eépo.. Eyo e Eépo...
V S V
Not know-1SG.. | not know-1SG...
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71.

72.

73.

74.

75.

76.

77.

78.

I don’t know.. I don’t know...

Ot dg Bo moiEw He  océva.
\

That not will play-1SG with you

That I won’t play with you.

Oupwg av oev eioan koA tote 0 OB maiovpe.
\Y Pr.Adj. \Y

But if notare-2SG good then not will play-1PL

But if you ‘re not kind then we won’t play together.

Opwmg eloar koA, yv avtd  Oo maiovpe.
\Y Pr.Adj. \Y

But are-2SG good, that’s why will play-1PL

But you ‘re kind, that ’s why we ‘Il play together.

O N. dev eivan  kaddg.

S V  Pr.Adj.
The N. not is good
N. isn’t kind.

Ae 1o polevet.
O \
Not them picks up
He doesn’t pick them up.

O N.vata paléyet

S O \%
The N. to them pick-3SG up
N. should pick them up.

S V @)
Eyd E€pw [morog €xet éva umootodvi].
S V @)
I know[who has a cane]
I know who has a cane.

Noa kheico  pdtio;

\ @)
To close-1SG eyes
Should I close my eyes?
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79.

80.

81.

82.

83.

84.

85.

86.

Eyo 6o mépw dvo opw¢ mote Ba kv [...] pio.
S \ @) \ @)

I will take-1SG two but  then will do-1SG[...] one

I ‘11 take twoo but then I ‘11 do [...] one.

'Etot, avtd QEpE, Oumg mote Bo T pio.

0] \% \% o)
So, these-ACC bring-IMP-2SG, but when will say-1SG one
So, you bring these, but when | say so.

Avtd pov apéoovve, ylott  éyovv  TOAD Opopea  TOTOVTGLA.

S O \% \% 0]
These me-GEN like-3PL, because have-3PL very beautiful shoes-ACC
I like these because they have very beautiful shoes.

Eivorto ayoammuévo pov.
\ Pr.Adj.

Is thefavorite  my

It ’s my favorite.

Kt avt6 pov apécel  ywri  €yovv OUOPPO.  AOVAOVLOAKILAL.
S O \% \% O

And this me-GEN like-3SG because have-3PL beautiful flowers-DIM

I like this one also because they have beautiful flowers.

Kt avto pov apéoel  ywori  elvon pio koméA Ko £xEl GKOLAAPIKLAL.
S O \% \% Pr.N. \% O

And this me-GEN like-3SG becauseis a girl  and has earrings

I like this one also because there is a girl and she has earrings.

[Tewvdo.
\
Am hungry
I ‘m hungry.
\/
Oumg AMya  moudakio [6tav peyoidvouv] yivouv LKPA.
S V  Pr.Adj.

But a few children-NOM [when grow-3PL up] become-3PL-PERF young
But only a few children become young when they grow up.
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87.

88.

89.

90.

91.

92.

93.

94.

Opog €101 ¢ mhiet.
\/

But so notgoes

But this doesn’t fit.

Otav peyolovelg eloot  peydrog.

\% \% Pr.Adj.
When grow-2SG up are-2SG old
When you grow up you are old.

Agv E€pm eYD... Eyo dev Eépo..

\ S S \%

Not know-1SGI... I notknow..

I don’t know... I don’t know..

@) \%
Eyo &po [T va mai&ovpe].
S V o)
I know [what to play-1PL]
I know what we should play.

\Y
Eyo 0o @épm xatt
S vV O

Yo vo ToiEovE.

I will bring something to play-1PL]

I will bring something to play.

Av16 d¢ 10 €ldeg noté!
0] V

This not it-ACC saw-2SG never

You have never seen this before!

Exyo mpduato péca.

\ @)
Have-1SG things  inside
I have things in here.

Eyo éyo mamakio  mépo TOALA.
S v O

I have ducks-DIM very many

I have too many ducks.
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95.

96.

97.

98.

99.

100.

101.

Vv
Mmopel  méA [va pmet uéocal.
\% 0]
Can-3SG again [to get-3SG in]
It can get in there again.

"o va kounOeic.
\

to sleep-2SG
In order to sleep.

@) \
[O Ta umdho [V pmopeic] vo mai&elg kanmg].
The marbles can-2SG to play-2SG somehow

You can play the marbles somehow.

Ta  pilec £101...£T61 10 Kévelg Kot tote madpvelg €va umdAa
) V @) V \Y @)
Them throw-2SG so... so it-ACC do-2SG and then take-2SG a-NEU ball-FEM
Kol TO nailelg  moAL

@) \Y

and it-ACC play-2SG again

You throw them this way... you do it this way and then you take a ball and you play
with it again.

@) \
Kot tote pmopovpe mok [va 1o KOVOLUE].
\Y O
And then can-1PL again [to it-ACC do-1PL]
And then we can do it again.

Tv  &iv’ avto;
PrN. V S
What is  this
What is this?

Amo molov givat;
\V

From who is

Whose is this?
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102. H «xwmimiooo @Tidyvel poyntd Yo To TolddKLo TNG.
S \% 0]
The princess makes food for the children-DIM her
The princess makes food for her little children.

@) \%
103.  Avtd &iv’ ta TouddaKio Kt 0tov @Aave 1o Toy®wtd,  umopovve[O  Aiyo
S V Pr.N. \ @) \Y
These are the children and when eat-3PL the ice cream, can-3PL [O a little bit of
[Toywtd vo @dave Kol TOTE va Tovve  Alyo pmumePo].
@) \Y \ )

Ice cream to eat-3PL and then to drink-3PL a liitle bit of baby bottle

These are the little children and when they eat the ice cream, they can eat a little bit of
ice cream and then drink from their bottle.

104. Kotto moddKio meptiévouy.
S \
And the children wait-3PL
And the children are waiting.

) \
105. Ko pmopeic [kt €60 va T’ apnoeig].
\ @)

And can-2SGJ[and here to it-ACC leave-2SG
You can also leave it here.

\%
106. Oy, €d0... pumopeic [va kownBeic].
\% 0]

No, here... can-2SGJto sleep-2SG]
No, you can sleep here...

107. Av16 Ba kounei.
S \
This will sleep-3SG
This will go to sleep.

Vv
108. Opwg 0érer [vo koynOei].
\/ 0]

But wants [to sleep-3SG]
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109.

110.

111.

112.

113.

114.

115.

116.

But he wants to go to sleep.

Oupwg avtd 6o @dve TOPA.
S V

But these will eat-3PL  now

But these will eat now.

Bo eTidEel  covma.
\% 0]

Will make-3SG soup

She will make soup.

PrN V S
Eépelg [ &V’ avtdl;
\ 0]
Know-2SG [what are-3PL these]

Do you know what these are?

Vv
Exeivo 8¢ pmopet  [vo... pmeg va kounOsi].
S \/ 0]
That not can-3SG [to... maybe to sleep-3SG]
That can’t... Maybe it can’t sleep.

H popd otuaéet TP 666.... Qo eTidEet poaxopovia.

S \ \ @)
The mum make-3SG-PERF now sss.... Will make-3SG spaghetti-ACC
Now mum will make sss... She will make spaghetti.

To oo etvar ovoyto.

S V Pr.Adj.
The-NEU cave-FEM is  open
The cave is open.

Kot topa Bo Bdiow  Alyo oy ®To.

\% O
And now will put-1SG a little bit of ice cream-ACC
And now I will put some ice cream.

To maymtd  eivor ToAd kpbo.
S \Y/ Pr.Adj.
The ice creamis  very cold
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117.

118.

119.

120.

121.

122.

123.

124,

The ice cream is very cold.

Kot 8o otmidéw  pokapdvia.
\% o)

And will make-1SG spaghetti

And | will make spaghetti.

Bpéyel!
\Y/
Rains
It ’s raining!

Oy, éto1 d¢ mpémet!
VvV
No, so not has to
No, this isn’t the right way.

‘Etol mpémet!

V
So hasto
This is how it must be done!

\% 0]
Mapd, pmopovue [va maiovue Myo  Tig pmbdec];
\% 0]
Mum, can-1PL [to play-1PL a little the balls]
Mum, can we play a little bit with the balls?

o o¢Tdéelg €ov QaynTo;
\% S 0]

Will make-2SG you-NOM food-ACC

Will you make food?

Opog ey Bo Barwm... ERaia TOLLOTOVAQ.
S \Y \ )
But |  will put-1SG... put-1SG-PST tomato-DIM

But I will put... I put tomato.

Topa avtd ta  Paleo  értou
@) @) \
Now these-ACC them put-1SG so

Now I ‘m putting these that way.
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N. 00:52:43

12 from 166 clauses with transfer and 8 cases of OV in main clauses( 28, 40, 53, 109, 110,
115, 123, 136) not considered as transfer according to the operationalization.

1. Kot avpro 0o mailovpe.
\Y/
And tomorrow will play-1PL
We will play tomorrow also.

2. Noa mai&oope ko pe  avta!
\
To play-1PL and with these-NEU
Let’s play with these also!

3. [Noti apnoe 10 KIVNTo €00;
\ 0]
Why [eft-3SG the mobile here?
Why did she left the mobile here?

4, Ag pmaiver avBpora kel péoa.
\ S
Not gets in people-NEU there in
People don’t get in there.

5. A, dev avoliyel!
\V
A, not gets open
A, it doesn’t get open!

6. E, vadovue vato Kévovpe Ko pe..  MeTA pe  tor {oa.
\ ) VvV

He, to see-1PL to it-ACC do-1PL and with.. then with the animals
He, let’s see how to do it also with.. afterwards with the animals.
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10.

11.

12.

13.

14.

Nata Bydio o\,
O \%
To them get-1SG out all
Do you want me to get them all out?

Tt 1o Bélelg avtd;
O \% 0]

What it-ACC want-2SG this

What do you want this for?

Toéc0o peydin axpido dev £ym ol

O \
Such big grasshoper not have-1SG seen
I “ve never seen such a big grasshoper!

Q, ta Pydrope mdir O
o) \
Oh, them got-1PL again all
Oh, we ‘ve got them all out again!

Oo xavelg to o105
\ O

Will do-2SG the same

Will you do the same?

[T6co ypovav  gloo,

\%
How much years-GEN are-2SG
How old are you?

\Y, S
Qo kGve  owtd [Tov Kavels Kt D).
\Y, 0
Will do-1SG this [that do-2SG and you]
I will do what you also do.

\

Avtégntav o @idoc [mov  fuovva  mpwv].
S \ Pr.N
He  was the friend [where was-1SG before]
He was the friend where | was previously.
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15.

16.

17.

18.

19.

20.

21.

22.

23.

Ag pmopo!
V
Not can-1SG
| can’t!
Tt éye eov oto iPad;
@) \Y/ S

What have-2SG you tothe iPad
What do you have in the iPad?

Agv €yelc;

\Y
Not have-2SG
Don’t you have?

AMOgw0, dev €xerg iPad;

vV O
Really, not have-2SG iPad
Really, don’t you have iPad?

To mpeg  pali cov;

@) \

It-ACC took-2SG with you-GEN
Did you take it with you?

‘Exo kot Tom Gold Run!

Vv (0]
Have-1SG and Tom Gold Run
I have also Tom Gold Run!

To £xe;

0] \%
It-ACC have-2SG
Do you have it?

[161e 10 mailelg o avtokivnto;

O V @)
When it-ACC play-2SG the car-ACC
When do you play the car?

Eyd Ba 1o mhpw  Otav Bo  eipon
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24,

25.

26.

27.

28.

29.

30.

S 0] \Y \%
I will it-ACC take-1SG when will be-1SG like you
I will buy it when I will be at your age.

\%
Avtd givar to. pova [rov éxerc 610 Kwnto];
S V Pr.Adj.
These are the only-PL-NEU [that have-2SG tothe mobile]
Are these the only ones you have in the mobile?

Ag  dovievel KaAd,
\Y

Not works  well

Doesn’t it work well?

Noa kéveo pia foppa kat. ..
\Y/ O

Todo-1SGa bomb and...
I want to do a bomb and...

Ed®m dev éyoope G
\V 0]
Here not have-1PL others-ACC

Here, we don’t have any other.

Ola ovtd Ha o YpNOHOTOMC®;
@) @) \

All these will them use-1SG
Am | going to use all these?

Tote éxelg [kou Tapa TOAAG Y10t Vo GKOTDOEL].

\Y/ O \%
Then have-2SG and too  many to kill-3SG]
Then you have also too many for him to kill.

S O V
Tote mpénet [0 évag mdpa moAAoVG avOpGOTOVG VO GKOTMGEL].

\ S
Then has [the one too many  people to kill-3SG]
Then the one has to kill too many people.

@) \Y
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31.

32.

33.

34.

35.

36.

37.

38.

39.

Oa BdAwm [6ca LUTOp®].
\% 0]

Will put-1SG [as many as can-1SG]

I will put as many as I can.

Avto 6o 10

0] @) \/
This will it-ACC use-1PL
We will use this one.

Avt6 0o 10 Baro  €d0.
O 0] \%

This will it-ACC put-1SG here

I will put this one here.

AVT0 €ye1g BouPeg;
S V 0]

This have-2SG bombs

Does this have bombs?

Amo Vv dAAN TAELPA EpyETOL.
V

From the other side comes

He comes from the other side.

Avtdg metdier fOpPec.

S V o]
He  throws bombs
This one throws bombs.

Novuepo giva,
Pr.N. V

Number is

Is it a number?

[Towog etvan;

S V
Who is
Who is he?
V Vv
Agv €xelg [vo moytei Y10 TOVS 6TPATIRTES [Tov £dwaa] |;

YPNGLOTO|COVE.
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40.

41.

42,

43.

44,

45.

46.

47.

\% o)
Not have-2SG [to get-3SG played for the soldiers
Don’t you have the soldiers that I gave you to play?

Apketong £0ma.

O \Y
Several-ACC-PL-MASC gave-1SG
| gave enough.

Avtog plyver  and mwhve 10 XEPL.
S \%

He  shoots from above the hand

He is shooting over the hand.

Av10 o660 sivai;
S V

This how much is

How much is this one?

[...] 0 KOV® TOPUKATO.
O \Y

[...]it-ACC do-1SG below

| do it further.

Bo T YPNOWOTOC® OAL.
O \Y/

Will them use-1SG all

I will use them all.

\

Opwg avtd [0 pmopad] va 1o YPNOUYLOTOMC®.

O 0] \%
But this [not can-1SG] to it-ACC use-1SG
But I can’t use this one.

Mmnopeic;
\

Can-2SG

Can you?

Na 1o Kavet
OV
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48.

49,

50.

51,

52.

53.

54,

55.

To it-ACC do-3SG
Do you want him to do it?

\%
Topo Khaiet yloti  de pmopet  [vamaier  poli pag].

\Y \Y )
Now cries  because not can-3SG [to play-3SG with us]
Now she is crying because she can’t play with us.

[No va etvon  péoa.
Vv
to be-3SG inside
To be inside.

Av10¢ d¢ oTéKETOL.
S V

He not stand

He does’t stand

‘Eontace 1o mOHOL

\% o)
Broke-3SG the leg
He has broken his leg

Na 1o TP avTo T0... ;
@) \Y O

To it-ACC take-1SG this the...

Can | take this...?

Avto6 motohdKkt  givat.
S Pr.N. Vv

This pistol-DIM is

This one is a little pistol.

\
Avroi [rov kohvumave] eivon  mioTOAGK!LA.
S \ Pr.N.
These-MASC [who swim-3PL] are-3PL pistols-DIM
The ones that swim are little pistols.

Opoc avtd oev elv’ TGTOAAKLAL.
S \Y Pr.N.
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56.

S7.

58.

59.

60.

61.

62.

63.

But these not are-3PL pistols-DIM
But these are not pistols.

Agv €xet xartt.
vV O
Not has something
It doesn’t have anything.

Av16 dev 10 piyvet, ouwG mhel and KAT® TO0 YEPL.

@) @) \ VvV
This not it-ACC gets down, but  goes from down the arm-ACC
It doesn’t get this one down, but it goes under the arm.

Ag 10 piyvel KATO.
@) \Y

Not it-ACC gets down down

It doesn’t get it down.

\Y/
And dw pmopel [va piket oo  mhve Tov].
V 0]
From here can-3SG [to shoot-3SG from above his]
He can shoot him from here.

Piyver and méve tov!!
\%

Shoots from above his

He is shooting him!!

OV
Mmnopeic [vo ta Balelg kot miow Tiow];
\% 0]
Can-2SG [to them put-2SG and behind behind]
Can you put them also behind?

"EBokeg ndpa TOAAG TIGTOAAKLOL.

\ @)
Put-2SG-PST too many pistols-DIM
You put too many pistols.

AvTog €xet i fopPa
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64.

65.

66.

67.

68.

S \V 0]
He has a bomb
Does he have a bomb?

Kt avtdg étor kdBeton Kat.... gt Kt €va TETOL0 Y1 Va...
S \ \ O

Andhe so sits and.... has and one such to...

He is also sitting this way and.... he has also one such to...

Opmg piyver mpog to Tavo.
\%

But  shoots upwards

But he’s shooting upwards.

AvOa nMtave  tOpa vt kavovikny Con, 0 Ba pov apele
\Y S Pr.N. @) \Y

If will was-3SG now this-NOM-FEM normal life, not will me-GEN like-3SG

KkaBorov!

at all

If that was in real, I wouldn’t like it at all!

\ S
Eépelg [rog Eexvaer moAepog]; Eyo Eépm!
\ @) S V
Know-2SG [how starts ~ war-NOM]? |  know!
Do you know how a war breaks out? | know!

\/ S
Otav kamolog £xel mhpa ToAd éva... 6tav dg Oélel [vo ddoel  KAmolog
S \/ \Y )
When someone has very much a... when not wants [to give-3SG someone-NOM

(0]
oToV aAAOV éva...]

tothe-MASC-ACC other-ACC a...]

When someone has a... very much... when someone doesn’t want to give a... to the
other one...
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69.

70.

71.

72.

73.

74.

75.

76.

\% S
Mmopel  [va yivel Ko Torepoc].
\ S
Can-3SG [to happen-3SG and war]
War can also happen.

‘Etol gine N Houd.

V S
So said-3SG the mum-NOM
That’s what mum said.

AMo éva kol tedeimoa  gY® TAVE.
\% S

Other one and finished-1SG |  above

One more and | am finished up here.

Avtog piyver PopPec.
S V @)

He throws bombs

He throws bombs.

Kt eyo npwv €101 glya évav.

S \% 0]
And | previously so had-1SG one
So I had also one previously.

\%
Avtog umopet  [va piyvet étol].
S \% O
He can-3SG [to shoot-3SG this way]
He can shoot this way.

@) \
Aev mepalet [ mov ta  Baleic]!
\Y/ S
Not matters [where them put-2SG]
It doesn’t matter where you put them!

Oa 1o Palerg «dhmov.

@) \
Will them put-2SG somewhere
You will put them somewhere.
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77.

78.

79.

80.

81.

82.

83.

\

Ouwg g pmopeic [vapi...] ...
\Y/ @)

But how can-2SG [to sho.. ] ...

But how can you sho...

Vv
Iog pmopeic [uéoo otn  OdAacco KGT® Vo GKOTOVELS];
\% o)
How can-2SG [in  tothe sea down to kill-2SG]

How can you kill deep into the sea?

[Téel mpa TOAD  oryavd tote | PouPa.

\ S
Goes too slowly then the bomb
The bomb goes too slowly then.

Opwg av kot 1o vepd mdel mpog Tl KEL, TOTE TAEL TAPO TOAD YPY|YOPOL.

S V \%
But if and the water goes towards there, then goes very
But if the water goes also that way, then it goes very fast.

Ouwmg 11 va PAérelg oto iPad;

o) \%
But what to watch-2SG tothe iPad
But what will you watch on iPad?

O Vv Vv
Avto pmopd  [vo to Bdrw] «1  [O6tav mailovpe].
O V 0]
This can-1SG [to it-ACC put-1SG] and [when play-1PL]
I can put this one also when we play.

Noa fdAw kot 0 unyovakt;
\ @)
To put-1SG and the motorbike
Do you want me to put also the motorbike?

\Y \Y
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84.

85.

86.

87.

88.

89.

90.

91.

[Onwg o0 KOPw], mpémet axopo [ vo umopd [vo Bodo

\

[As it-ACC cut-1SG], has-3SG to further [to can-1SG [to put-1SG and an animal-

Yo va...

DIM] ] in order to...

The way I see it, I still have to be able to put also an animal in order to...

[Moipvo opéowg t0 MO peydro.
\% o)

Take-1SG right away the more big

| take the biggest one right away.

"‘EBaia Kot £vol EMAVO.

\% 0]
Put-1SG-PST and one above
| put another one above.

Movo avtd éuetve ko teleimoa.
S \% \%
Only this is left and finished-1SG
This is the only one left and | am finished.

Teieiwoa!

V
Finished-1SG
I am finished!

Vv
Eépo [z mher]!
\% 0]
Know-1SG [how goes]
I know how it goes!

[Toog Eekvdet,
S \Y/
Who starts
Who is going to start?

[Towog piyver kbT;
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92.

93.

94.

95.

96.

97.

98.

S Vv
Who throws down
Who is going to shoot?

Exyo Evav pHovo.
\% 0]
Have-1SG one-ACC-MASC only

I “ve got only one.

V 0]
Mmnopeig [va pi&eig KO TOV £00T0 60V KOt®];
\V 0]
Can-2SG[to get-2SG down and the self  your down]

Can you also get yourself down?

Ag Bo 1O Kavo!

0] \V
Not will it-ACC do-1SG
I won’t do it!

Opoc edd  umopet..

V
But here can-3SG
But here it can..

\
[Mog pmopelg [edm va ydoeic];
\Y @)
How can-2SG [here to lose-2SG]
How can you lose here?

S \Y

[Omoloc  Eekwvdel] piyvel Kot Tovg GAAOVG o YpNyopa KAT.

S \Y @)

[Whoever starts]  throws and the others more quickly down
Whoever is going to starts, will also throw down the others more quickly.

Mov épiéec!

o] V
Me-GEN shot-2SG
You shot me!
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99.

100.

101.

102.

103.

104.

105.

106.

Mov oKOTMoEC!

@) \
Me-GEN killed-2SG
You killed me!

Agv &xm ovomep.

\% O
Not have-1SG sniper-ACC
| don’t have sniper.

Eiya puovo éva.
\ 0]
Had-1SG only one

I had only one.

2Kotmwoa  opuécmg  Ovo.

\ 0]
Killed-1SG right away two
| killed two right away.

Topa 00! 'Exeig eov;

V S
Now you! Have-2SG you-NOM
Now you! Have you?

Téooepa ginape!

o] V
Four said-1PL
We said four!
V 0]
Eyd de 0éhm [va piEm &t
S \/ 0]

I not want-1SG [to throw-1SG six]
| want to throw six!

Axopa ypaget,

Vv
Still  records-3SG
Is it still recording?
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107.

108.

109.

110.

111.

112.

113.

114.

115.

Ag  plyvelg T€06€EP0, KATW;
\ o)

Not throw-2SG four down

Don’t you throw four?

Mov épiéeg Kl okoua éva!
@) \/ 0]
Me-GEN threw-2SG and more one

You threw me one more!

Ola o KOAG Hov OKOTMVELS!
0.D O.In. Vv

All the good-PL-NEU-ACC me-GEN kill-25G

You are killing all my good soldiers!

Ta prpootivd GOv 0 oKOTOGO.
@) o) \%

The front-PL-NEU-ACC you-GEN them killed-1SG

I killed those soldiers of yours who stood in front.

\% 0]
Mmnopeic k1 amhog [va pi&eig KAmolo, Kétw].
\ 0]
Can-2SG and simply [to throw-2SG some  down]
You can also simply throw some down.

Tote va puyeig!

\Y
Then to go-2SG
Then go!
Kot piyve BopuPa.
\Y/ )

And throw-1SG bomb
And | am throwing a bomb.

Nat... oAdg — Ba eoyelc.

\/
Yes... otherwise will leave-2SG
Yes... otherwise you will leave.

e péva mhpo ToAAL OKOTMOOEG NO).
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116.

117.

118.

119.

120.

121.

122.

123.

o) \%
Tome too many-ACC-NEU killed-2SG already
You have already killed too many soldiers of mine

\/ o]
O&m [va pi€® éva eEqpt].
V o]
Want-1SG[to throw-1SG a dice]
| want to throw a dice.

No cov OKOTMO® KATOL0.

O.In. Vv 0.D
To you-GEN kill-1SG some-PL-NEU-ACC
I want to kill some of yours.

\Y
Otav €yxeg omha, pe  OAo pmopeis [va pifeic];
\ @) \Y )

When have-2SG guns, with all can-2SG[to shoot-2SG]
When you have guns, can you shoot with all of them?

Tote cov naipve  BouPa.
O.In. Vv 0.D

Then you-GEN take-1SG bomb

Then | take one bomb of yours.

‘Exec... Agv €yeig KL  €0V;

\Y \Y S
Have-2SG...Not have-2SG and you-NOM
You have...Don’t you have also?

Téco cov naipveo  BouPoa.
O.In. Vv 0.D.

That you-GEN take-1SG bomb-ACC

With that | take a bomb from you.

‘Exeic! Avo. Athdg okotmaoe kdmota!

vV O \Y/ @)
Have-2SG! Two. Just kill-IMP-2SG some-ACC
You have! Two. You just have to kill some!

e 6éva mhpo TOAD Alyo GKOTMGOVE.
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o) \%
To you very few killed-3SG
Very few soldiers of yours are killed.

124.  Mov T  OKOTMOEG EMAV....
O.n. OD. V
Me-GEN them killed-2SG abov....

You killed my soldiers abov....

125. Opwmg &yo Kl eyo BouPeg!
\Y/ S O
But have-1SGandl bombs
But | have also bombs!

\Y/
126. Twri de pmopeic [va okotdoelg ty...]
\Y/ O
Because not can-2SG[to kill-2SG  the...]
Because you can’t kill the...

O VvV
127.  Eivot éva 61k6 cov v’ avtd ki [O ekeivo [pumopd]  vo okotho |.
\ VvV
Is  one own your that’why and[  that [can-1SG] to kill-1SG ]
It ’s one of yours and that’s why I can kill that.

128. Avtd pov T yorooeg!
O.D. O.In O.D. Vv
These me-GEN them broke-2SG
You broke these soldiers of mine!

129. To xbhace o TOVK.
O V S
It-ACC broke-3SG the-MASC-NOM tank-NEU-NOM
The tank broke it.

130. Asev €xet Kodo.
vV O
Not has code-ACC
It doesn’t have a code.

\Y @)
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131. Oéw [vomaifo  kdaTt dAlo].
\% o)
Want-1SG[to play-1SG something else]
| want to play somehing else.

132. Tlai&ovpe KOLUE  OKA LoV oy vidio TdpaL;
\
Play-1PL-PERF and with own my toys now
Shall we play with my toys also now?

133. Eov dg mNpEg Coa;
S \% 0]
You-NOM not take-2SG-PST animals
Didn’t you take animals?

VvV
134. Eym 6g pmopoveca [va kpuetd].
S \Y @)
I notcould [to hide-1SG myself]
I couldn’t hide myself.

135. Xov oKOTOGO AP TOAAQ.
O.In. \Y O.D.
You-GEN Killed-1SG many

| killed many soldiers of yours.

136. Ohlo awtd GOV T GKOTMGO.
0.D. O.In. 0.D. Vv
All these-NEU-ACC you-GEN them-NEU Kkilled-1SG
I killed all these soldiers of yours.

137.  Eivou yio v mopta.. ylo vo petvet 1 mopta avouyT.
\ \Y/ S
Is for thedoor.. to  stay-3SG the door-NOM open
It ‘s for the door.. the door to stay open.

138. Toa moilelg oaxoOpw;
@) \
Them play-2SG still
Do you still play with them?

139. Z10 Stratego éyeig éva, dvo, Tpia, T€6CEPA. ..
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140.

141.

142.

143.

144,

145.

146.

\/ 0]
Tothe Stratego have-2SG one, two, three, four...
In Stratego you have one, two, three, four...

Topat  Bo kdvoups;
0] \%
Now what will do-1PL
Now what are we going to do?

Ae 10 0éLm.

0] \Y/
Not it-ACC want-1SG
I don’t want it.

Koi cov moeL Tiom Ko 0 TO....
0] \%

And you-GEN goes back and not it-ACC

And your soldier goes back and ....

@) \Y/
Ao [kbT Lo vo Toim].
\ @)
Want-1SG[something else  to play-1SG]
| want to play something else.

\ )
Oéhm [va moi€®  moddo@aipo], Opmg de  pmopovpe!
\ @) \
Want-1SGJto play-1SG football], but not can-1PL
I want to play football, but we can’t!

[Nl 6g mpeg 0 TAEQ®VO;
\ @)

Why not took-2SG the telephone

Why didn’t you take the telephone?

\%
o [va mai&ovpe].
\% O

Want-1SG [to play-1PL]
I want us to play.
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147. Ae 710 é&yovpe  dgt  mOTE.
0] V
Not it-ACC have-1PL seen never
We have never seen it.

\
148. Aocoo kot Tpémel [va @Oyovve]!
\ S

Aaaa and has-3SG to [to leave-3PL]
Aaaa and they have to leave!

149. Twvaeivau mo  ddokoro.
\/ Pr.Adj.
to be-3SG more difficult

So that it will be more difficult.

\% 0]
150. Potdo [avumop®d vamoifo  oto iPad].
\% 0]
Ask-1SGJif can-1SG to play-1SG tothe iPad]
| ask if I can play on the iPad.

151. Totemw  va moiEm pe  évav eiro.
\% \%
Then go-1SG to play-1SG witha  friend
Then | go to play with a friend.

152. OAn v opabo  PBopidpovvo.
V
Whole the time would be-1SG hored
I would be bored the whole time.

@) \/
153.  Mmopeic [kL__ €101 va kavelc];
\Y o)
Can-2SG[and so to do-2SG]
Can you do so also?

154. Tharti dev épepeg KL €00 exelvo t0 oy vioy,
\/ S @)
Why not brought-2SG and you-NOM that  the toy
Why didn’t you also bring that toy?
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155.

156.

157.

158.

159.

160.

161.

162.

["arti dev 10 TNPEG;

O \
Why not it-ACC took-2SG
Why didn’t you take it?

Ae 1o maile;
O VvV
Not them play-2SG
Don’t you play with them?

Molevelg,  Ouwmg dev moilelc.
\Y/ \

Collect-2SG, but  not play-2SG

You collect but you don’t play.

vV O
O&o [va mai&m iPad].
\/ 0]

Want-1SGJto play-1SG iPad]
| want to play on the iPad.

[Noti dev €xete iPad;

vV O
Why not have-2PL iPad
Why don’t you have an iPad?

[Tio peydrog etvonn mo  pKpog;

Pr.Adj. V Pr.Adj.
More old IS Oor more young
Is he older or younger?

\% 0]
Omnote 0élelg [rmailelg To Kivntol;
\% O
Whenever want-2SG[play-2SG the mobile]
Do you play the mobile whenever you want?

@) VvV
Mmopeig [va 1o BdAelc  KdT® omd  710... | Ko ToTE 6Ty B KowunOeig, Oa
\Y @) \Y
Can-2SG[to it-ACC put-2SG under from the...] and then when will sleep-2SG, will
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T0 noilels.
@) V
it-ACC play-2SG

You can put it under the... and then when you ‘1l go to sleep, you will play with it.

163. Totett  vo KAvovue;
0] V
Then what to do-1PL
Then what shall we do?

\%
164. Eyo &po [og moto eivar].
S V 0]
I know[to which is]
I know where it is.

Vv
165.  Mmnopeic [kt exel va kdveig].
\V 0]
Can-2SG[and there to do-2SG]
You can also do there.

166. KAetvooue m 100vTQ;
\% 0]
Close-1PL the-ACC bag-ACC
Shall we close the bag?
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B. TOESTEMMINGSFORMULIER

Toestemmingsformulier

IKheet. ..o, en ik geef mijn toestemming aan
Charikleia Sakellari, student van het pre-master traject “Meertaligheid en Taalverwerving”
van Utrecht Universiteit, mijn kinderen, .............................. | ,

als participanten te gebruiken in het kader van haar Bachelor Eindwerkstuk over
crosslinguistische transfer. Ik ben door haar verzekerd dat alle gegevens en resultaten van het
onderzoek anoniem zullen blijven. Bovendien zal ze haar onderzoek onder toezicht van
dr.Luisa Meroni( L.Meroni@uu.nl en tel.n.: +31 30 253 8143) uitvoeren tot wie ik me tevens
wenden mag voor meer informatie en vragen.

Datum:
Plek

Ondertekening:

Ondertekening student:
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C.

1-SG
2-SG
3-SG
ACC
GEN
INF

NOM

o.D

O.In.

[0 ]

PERF
PRS

Pred.

Pr.Adj.

Pr.N.

PST

ABBREVIATIONS AND SYMBOLS

first person Singular
second person Singular
third person Singular
Accusative

Genetive

Infinitive

Nominative

Object

Obiject Direct

Obiject indirect
Sentence used as an Object

Sentence used as an Object

Perfective

Present

Predicate

Predicative Adjectival
Predicative Nominal
Past

Subject
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[S 1]

SUBJ
V2
Vf
Vfinal
Vvn-f
Vir

[...]

Red Script

Sentence used as a Subject

Sentence used a Subject

Subjunctive

Verb in the second position
Verb finite form

Verb in the final position
Verb non-finite

Verb transitive
Incomprehensible Speech

Word Order Transfer
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D. VRAGENLIST

Vragenlijst Italiaans-Nederlands tweetalige kinderen

Deze vragenlijst dient om een algemeen beeld te krijgen over uw kind en de talen waarmee zij/hij in
het dagelijks leven in aanraking komt. Het is van belang van het onderzoek om relevantie informatie
te ontvangen met betrekking tot de taalsituatie waarin uw kind zich verkeerd.

Er volgen mede een aantal vragen waarin u wordt gevraagd antwoord te geven over het taalniveau
van de spreker op een 5-puntsschaal. Deze cijfers corresponderen als volgt:

Niet vloeiend (slechts basis woorden/uitdrukkingen)

Redelijk vioeiend (hij/zij is in staat eenvoudige conversaties te houden)

Tamelijk vloeiend (hij/zij in staat uitgebreide conversaties te houden)

Heel vioeiend (hij/zij is in staat elke vorm van conversatie te houden in iedere situatie)
e Spreekt op moedertaalniveau

Wanneer een vraag niet duidelijk mocht zijn, sla deze dan even over. We kunnen hier later op
terugkomen en deze vraag samen invullen.

Hartelijk bedankt voor uw medewerking!

Algemene achtergrond informatie

o Watisde naamvan uw Kind? e e,
e Wat is het geslacht van uw kind? M/F
o Inwelklandisuwkind geboren? e s

e Watis de geboortedatum van uw kind? | L. S /20.............

e Wanneer is uw kind in Nederland gegkomen? | ... A [20. e

Heeft uw kind nog broertjes of zusjes? Zo ja, ga naar vraag 6. Zo nee, ga
naar vraag 7.

e Wat zijn hun namen en hoe oud zijn zij? Naam:
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e Beroep en opleiding

e Watis uw huidige beroep?
e Watis uw hoogst afgeronde opleiding?

Leeftijd:

e Wat is het huidige beroep van uw partner?
e Wat zijn zijn/haar hoogst afgeronde opleiding?

e Contact met de talen

Het Nederlands Het Italic
e Hoe kwam uw kind voor het eerstin contact met: | e | cvereeseeeee,
e Vanaf wanneer werd uw kind consistent blootgesteld aan: / 20 | e /.....
e Hoe goed spreekt uw kind: 12345 123
e Hoe goed begrijpt uw kind : 12345 123

Talen gesproken in huis

o Denk aan de mensen die thuis regelmatig met uw kind in contact komen.

Het Nederlands

Het Itali

Persoon 1:.........ccecevvervunenne

Hoe vaak spreekt hij/zij tegen uw kind: v Yvande tijd 0 |
Hoe goed spreekt hij/zij: 12345 1 3
Hoe goed begrijpt hij/zij: 12345 3
Hoe vaak spreekt uw kind de taal tegen deze persoon? ..%vandetijd | s
Persoon 2:..........ccccovvervueenne

Hoe vaak spreekt hij/zij tegen uw kind: ..%vandetijd | o
Hoe goed spreekt hij/zij: 345 3
Hoe goed begrijpt hij/zij: 345 3
Hoe vaak spreekt uw kind de taal tegen deze persoon: w.%vandetijd |
Persoon 3.........ccoevviveriinennns

Hoe vaak spreekt hij/zij tegen uw kind: w.%vandetijd | o
Hoe goed spreekt hij/zij: 345 2 3
Hoe goed begrijpt hij/zij: 345

Hoe vaak spreekt uw kind de taal tegen deze persoon:

weeerereeenenns 26 VAN de tijd

84



Hoe vaak spreekt hij/zij tegen uw kind:

v Jovande tijd |

Hoe goed spreekt hij/zij:
Hoe goed begrijpt hij/zij:

12345 123

12345 123

Hoe vaak spreekt uw kind de taal tegen deze persoon?

Talen gesproken buiten het huis
(Omcirkel de taal die van toepassing is)

School
Wat is de instructietaal op school?

v Sovan de tijd | s

Nederlands / Italiaans / Andere taal

Welke taal spreken de kinderen met elkaar op school?

Nederlands / Italiaans / Andere taal

Buitenschoolse opvang (eventueel)
Wat is de instructietaal op de buitenschoolse opvang?

|

Nederlands / Italiaans /Andere taal

Welke taal spreken de kinderen onder elkaar op de
buitenschoolse opvang?

Nederlands / Italiaans / Andere taal

Vakanties

Hoeveel weken per jaar heeft uw kind vakantie?

Het Nederlands Het Italic

Hoeveel contact heeft uw kind tijdens de vakantie met
(percentage):

e Yo Vande tijd |

Andere activiteiten

Hoeveel uur per week brengt uw kind gemiddeld door met
activiteiten als sport en clubjes?

In het algemeen, welke taal gebruikt uw kind tijdens deze
activiteiten?

Nederlands / Italiaans / Andere taal

Hoe goed spreken de andere kinderen die deelnemen aan deze
activiteiten de gebruikte taal?

12345

Hoeveel uur per week speelt uw kind met andere kinderen
buiten school.

Welke taal spreken de kinderen met elkaar?

Nederlands / Italiaans / Andere taal

Hoeveel uur per week kijkt uw kind TV. En in welke taal?

........................ uur. Nederlands/ Italiaans/

Taalcontact in het verleden
Ging uw kind voorheen naar een kinderdagverblijf (tot 4 jaar)?
Zo nee, sla vraag 20 en 21 over.

Hoeveel dagen in de week ging uw kind naar het
kinderdagverblijf? (graag afronden op halve dagen)

Welke taal/talen werd er op het kinderdagverblijf gesproken?

Nederlands / Italiaans / Andere taal
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